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e o op 1,2 1,1 .2 [1,,1]1,1,2] M 75 1,3 o THEE
5 [N o RAE HAE | KiB PH | o | Ah 394 | 297V 0 A At | #keR| PCB |7 7?” miEfE 7””. Y han | Y hnm | Yo hmn | hhon | RYHO0 nn nn| yhnm | F93L | VIV Y N e y| avy uEs | S o&|[ESE .,~1'4,
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°c mS/m | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L | mg/L
WRKOKEFRICHAIBHRELRE [ () NIEEHRBEHIEHE] 0.003 [ A#&Hi| 0.01 | 0.05 | 0.01 [0.0005[ A#&Hi[ 0.02 | 0.002 [ 0.002 [ 0.004 [ 0.1 0.04 1 0.006 | 0.01 [ 0.01 | 0.002 | 0.006 | 0.003 [ 0.02 [ 0.01 | 0.01 10 0.8 1 0.05
hk [RIIBTH TN [ R R1.8.16 4. 6.2 3 [<0.0005] <0.1 [<0.005] <0.04 | <0.001]<0.0005]<0.0005] <0.002]<0.0002]<0.0002]<0.0004] <0. 002 | <0. 008 | <0. 001 |<0. 0006 <0. 002 | <0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | 0. 001]<0.002] 1.9 [ <0.1 | <0.02 |<0.005
PR | EQH2515TH EOFRARWL | R R4 R4.7.25 2. 6. 1 - - - - <0. 001 - - — - - - - - - - - - - _ - - - - - - - -
hR [EQF2EI6TH EOHRAAW | BER R2 R2.8.3 1. 6.4 1 ]<0.0005] <0.1 [<0.005] <0.02 | 0.001 |<0.0005]<0.0005] <0. 002 |<0.0002]<0.0002]<0.0004| <0.002 | <0. 008 <0. 001 | <0. 0006] <0. 002 | <0. 0005] <0. 0002| <0. 0006] <0. 0003| <0. 002 | <0. 001 <0.002| 1 <0.1 [ 0.19 [<0.005
BR |KBAEIITH Kl - 78 | JE8 RS R5.12.5 | 16.0 | 7. - - - - - - - - - - [<0.0002] - [<0.002[<0.004] - - [<0.002]0.0019] - - - - - - - - - =
tR | KBEITH EE(3 #E R R3.8.13 95| 7. 2 - - [<0.005] - 0. 001 - - - - - - - - - - = = = _ - - = - - - - -
i |[XERITH ik #EfT R4 8A4H 7.8 7.0 1 - - [<0.005] - [<0.001 - - - - - - - - - - - - = = _ - - - = - - -
i |[XEEITH it R R5 9A27H 291 6.9 3 - - [<0.005] - 0.001 - - - - - - - - - - = = _ - - = - - - - - -
hk |FEIZAEITHE K& iR R1 R1.8.13 | 145 7.3 22 [<0.0005] <0.1 [<0.005] <0.04 | 0.002 [<0.0005]<0.0005] <0. 002 <0.0002] 0. 0003 [<0.0004] <0. 002 [ <0. 008 | <0. 001 [<0. 0006] <0. 002 [ 0. 0071 [ <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001]<0.002] 2.7 [ <0.1 [ 0.28 [<0.005
g [FEI%AEIITH PR [ R3 R3.8.19 [ 12.3 | 7.1 32 - - - - 0.002 - - - - - - - - = = = = - - - - - - - - - -
bk |FEIZAEI2THE K& iR R5 R5.7.26 | 11.8 | 7.2 29 [<0.0003] <0.1 [<0.005] <0.01 | 0.003 [<0.0005]<0.0005] <0. 002 0. 0006 | <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 [ 0. 0017 [ <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 <0.002] 3.4 [ <0.1 [ 0.22 [<0.005
PR EIEFEI2ZTH [ii] [P R4 R4.7.7 126 | 7.1 31 - - - - 0. 001 - - - — - - - - - - - — — _ _ — — _ _ _ _ —
PR EIEEITTH [ii] #E R5 R5.10.3 [ 12.1] 6.9 34 - - - - 0.003 - - - — - - - - - - - — — _ — — — _ _ _ _ _
R |FE2&AEITH ENE 2D R2 R2.7.31 | 13.2 ] 7.4 | 31 [<0.0005] <0.1 [<0.005] <0.02 [ 0.003 [<0.0005]<0.0005] <0.002] 0.0007]<0.0002]<0.0004] <0. 002 | <0. 008 ] <0. 001 [<0. 0006] <0. 002 | 0. 0008 [ <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0.001]<0.002] 3.3 [ <0.1 | 0.18 [<0.005
PR |B2%&FESTH ARF iR R3 R3.8.19 [ 11.6 | 7.5 30 - - - - - - - - 0.0011 - - - - - - — — — — — — — Z _ _ — —
PR |B2%&FESTH A FF [P R4 R4.7.14 | 11.8 ] 7.6 29 - - - - 0.002 - — [<0.002]0. 0009] - - - - - - - _ _ _ - _ _ - _ _ _ -
R |#EIEKFAEI2TH i iR R2 R2.7.6 [ 12.1] 7.6 31 [<0.0005] <0.1 [<0.005] <0.02 | 0.002 [<0.0005]<0.0005] <0. 002 0. 0006 | <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 [ 0. 0006 | <0. 0002] <0. 0006] <0. 0003] <0. 002 [ 0. 001]<0.002] 2.8 [ <0.1 [ 0.2 [<0.005
R |FAEAEITH EY iR R1 R1.8.13 | 15.0 | 7.3 20 [<0.0005] <0.1 [<0.005] <0.04 | 0.002 [<0.0005]<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001]<0.002] 1.4 [ <0.1 [ 0.24 [<0.005
R |FAEAEITH EY HEH5E R1 R1.8.13 | 15.0 | 7.3 20 [<0.0005] <0.1 [<0.005] <0.04 | 0.002 [<0.0005]<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001[<0.002] 1.4 [ <0.1 [ 0.24 [<0.005
PR |B4EFESTH EY 5 R2 R2.8.4 [ 12.2] 6.9 38 - - - - 0.001 — — - - - - - - - _ _ - Z Z Z - - - - — _ -
PR |B4EFESTH 27 #E R3 R3.8.13 [ 11.2 ] 7.2 26 - - - - <0.001 - - - — - - - - - - - — — _ _ — — _ _ _ _ _
hR |BI4&FAESTH FEAIRL iR RS R5.8.28 [ 12.3 | 7.1 22 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
PR |B4AEFEDLTH A [P R3 R3.7.19 [ 13.9] 7.0 7 - - - - <0.001 - - - — - - - - - - - — — _ _ — — _ _ _ _ _
R |#SEAESTH FEAIRL iR R3 R3.8.19 [ 13.1] 7.2 26 [<0.0005] <0.1 [<0.005] <0.04 | 0.001 [<0.0005[<0.0005] <0. 002 <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [<0. 0006] <0. 002 [ 0. 0015 [ <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001]<0.002] 1.7 [ <0.1 [ 0.21 [<0.005
PR |BSERITH R [P R2 R2.7.10 [ 16.4 20 - - - - <0.001 - - - — - - - - - - - — — _ — — — _ _ _ _ —
R |FSEHITH g3 iR R4 R4.6.30 [ 10.3 | 7.1 18 [<0.0005] <0.1 ][<0.005] <0.02 [ 0.001 |<0.0005]<0.0005] <0. 002 [<0.0002[<0.0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 ] <0. 0005] <0. 0002 <0. 0006] <0. 0003] <0. 002] <0. 001[<0.002] 0.66 | <0.1 | 0.19 [<0.005
R |F6%&FE23TH EAw #Rn R5 R5.7.26 | 18.4 | 7.1 22 [<0.0003] <0.1 [<0.005] <0.01 | 0.001 [<0.0005[<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 <0.002] 0.26 | <0.1 [ 0.03 [<0.005
PR |ETEFESTH 2K [P R3 R3.7.19 [ 12.2 ]| 6.8 24 - - - - <0. 001 - - - — - - - - - - - — — — _ — — _ _ _ _ -
R |RI8&FE6TH FEAIRL iR R1 R1.8.13 | 11.5 | 7.5 26 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
R |FE8EAEISTH 7 iR R3 R3.7.30 | 18.5 | 7.4 | 31 [<0.0005] <0.1 [<0.005] <0.04 [ 0.001 [<0.0005]<0.0005] <0.002]<0.0002]<0.0002[<0.0004] <0. 002 | <0. 008 ] <0. 001 [<0.0006] <0. 002 | 0. 0011 <0. 0002] <0. 0006 <0. 0003] <0. 002 | 0. 001] <0.002] 3 <0.1 [ 0.21 [<0.005
R |FIEAEITH 25k e RS R5.9.29 | 11.0 | 6.9 16 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
ES NEAITH BE B R4 R4.6. 30 0.0 7.3 31 [<0.0005] <0.1 [<0.005] <0.02 | 0.001 [<0.0005]<0.0005] <0.002] 0. 0005 | <0.0002]<0.0004| <0. 002 | <0. 008 | <0. 001 ]<0. 0006] <0. 002 | <0. 0005 <0. 0002] <0. 0006]<0. 0003| <0. 002 [ <0.001[<0.002] 2.7 | <0.1 | 0.25 [<0.005
hR (EI3EFE20TH 15 78 [P R R5.8.9 7.0] 6.7 - - - - <0. 001 - - - — - - - - - - - - - _ — - - - - - - -
o [FI4%&FAITH 25k [ RS R5.7.28 0.4 7. <0.0003| <0.1 [<0.005] <0.01 | <0.001]<0.0005]<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 | <0. 0006] <0. 002 [ <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 <0.001[<0.002] 1.4 | <0.1 | 0.22 [<0.005
hR 14%7ITH BE [P R2 R2.8.27 2.7 1. - - - - 0.002 - - - — - - - - - - - - - _ - - - - - - - -
hR [EI4EFHEIITH 15 785 [P R1 R1.8.19 3.5] 6.6 0 - - - - <0. 001 - - - - - - - - - - - - - _ - - - = - - - -
PR EITEBEITH s iR R3 R3.7.30 [ 13.0] 7.0 27 - - - 0.002 — - - - - - - - - _ _ - _ _ - _ _ - - - -
g [FE25EBEIITHE T} R R5 R5.7.27 | 15.9 ] 7.0 | 29 [<0.0003] <0.1 [<0.005] <0.01 [ 0.001 [<0.0005]<0.0005] <0.002]<0.0002]<0.0002]<0.0004] <0. 002 | <0. 008 | <0. 001 [<0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | 0. 001]<0.002] 2.2 [ <0. 0.21 [<0.005
g [F0LEFEIOTH ITEY R R1 R1.8.15 | 145 7.0 12 [<0.0005] <0.1 [<0.005] <0.04 [ 0.004 |<0.0005]<0.0005] <0.002[<0.0002]<0.0002] <0. 0004] <0. 002 <0. 008 | <0. 001 | <0. 0006] <0. 002 [ <0. 0005 <0. 0002] <0. 0006 <0. 0003] <0. 002] <0. 001[<0.002] 0.76 | <O0. 0.14 [<0.005
PR | LIEFEI4TH 8 [P R5 R5.8.23 | 12.6 | 7.4 33 - - - 0.003 - - - — - - - - - - - — — — _ — — _ _ _ -
R |IZAEIITHE ZE [5Ev R1 R1.8.14 | 14.8 ] 7.9 24 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0041 - - - - - - - - - -
R |IZAEIITHE ZE Al R5 R5.12.5 | 21.0 | 6.7 - - - - - - - - - - [<0.0002] - ]<0.002[<0.004] - - [<0.002]0.0021 - - - - - - - - - -
R |J1%FE22THE 1] Al R5 R5.12.5 [ 19.0 | 7.0 - - - - - - - - - - [<0.0002] - ]<0.002[<0.004] - - [<0.002]0.0025] - - - - - - - - - -
R |J1%FE24TE I #Rn R4 R4.7.12 | 18.9 | 7.6 24 [<0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005[<0.0005] <0. 002 <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 | 0. 002] <0.055] <0.1 [ 0.20 [<0.005
PR |EIERITH wit [P R5 R5.8.9 12.1 ] 6.9 20 - - - - 0. 001 - - - — - - - - - - - — — — _ — — _ Z _ _ -
PR | EIERISTH i [P R4 R4.7.4 | 17.2 | 7.1 46 - - - - 0. 001 - - - — - - - - - - - — — — _ — — _ _ _ _ _
R |J2&BEITH e iR R2 R2.7.20 | 14.4] 6.9 32 - - - - 0.002 - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0. 0051 - - - - - - - - - -
g [J2&FITH HiE Al R2 R2.12.2 | 9.5 | 7.0 - - - - - - - - - - [<0.0002] - ]<0.002[<0.004] - - [<0.002]<0.0005] - - - - - - - - - -
R |[J2&HI3TH HiE iR R2 R2.7.6 | 10.8 | 7.3 41 [<0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005[<0.0005] <0.002] 0. 0007 [ <0. 0002] <0.0004] <0. 002 [ <0. 008 | <0. 001 [<0. 0006] <0. 002 [ 0. 0061 [ <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001]<0.002] 4.3 [ <0.1 [ 0.16 [<0.005
PR | JE3EFE9TH M [P R2 R2.8.12 [ 18.8 | 7.8 70 - - - - <0. 001 - - - — - - - - - - - — — — _ — — _ _ _ _ -
PR |EIERSTH wit [P R1 R1.8.15 [ 15.7 ] 7.0 44 - - - - 0.001 - - - — - - - - - - - — — — _ — — _ _ _ _ _
thg [Jk3EESTH HiE Al R2 R2.12.2 [ 10.5 | 7.1 - - - - - - - - - - [<0.0002] - ]<0.002[<0.004] - - [<0.002]0.0005] - - - - - - - - - -
g |JE3EW8TH HiE e R3 R3.8.13 | 11.6 | 7.1 18 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - - - -
g |JE3EW8TH HiE i R4 R4.8.9 [ 11.8] 7.3 18 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - - - -
g |JE3EW8TH HiE i R5 R5.9.27 [ 10.9 | 7.0 18 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0005] - - - - - - - - -
hR |H4EHITH ik iR R3 R3.7.30 [ 12.0 ] 7.1 22 [<0.0005] <0.1 [<0.005] <0.04 | 0.001 [<0.0005[<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [<0. 0006] <0. 002 [ 0. 0005 | <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 <0. 002 1 <0. 0.21 [<0.005
b [JL5&FmE2TH e iR R4 R4.7.7 [ 15.8 [ 7.4 [ 25 [<0.0005] <0.1 [<0.005] <0.02 [ 0.001 [<0.0005]<0.0005] <0.002]<0.0002[<0.0002]<0. 0004 <0.002] <0. 008 [ <0. 001 [<0. 0006] <0. 002 | 0. 0009 [ <0. 0002] <0. 0006 <0. 0003 <0. 002 <0. 001]<0. 002 1.4 [ <0. 0.23 [<0.005
thg [JL5&FESTH e Al R4 R4.7.12 | 14.2 ] 6.9 36 - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0030] - - - - - - - - -
hk |JL5EFE24TH 1] Al R1 R2.1.7 [ 29.0] 6.8 - - - - - - - - - - [<0.0002] - ]<0.002[<0.004] - - [<o0.002]0.0018] - - - - - - - - - -
ok |JL5&FE24TH ZE 5k R1 R1.8.27 | 15.4 | 6.7 33 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<o0.002]0.0019] - - - - - - - - - -
R |[J6EFAEISTH ZE [5Ev R1 R1.8.19 [ 155 | 7.7 32 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0037] - - - - - - - - - -
hk |J7&FE26TH 1] Al R1 R2.1.7 [ 13.5] 7.4 - - - - - - - - - - [<0.0002] - ]<0.002[<0.004] - - [<0.002]<0.0005] - - - - - - - - - -
hk |J7&FE26TH 1] e R2 R2.9.7 [ 15.1] 7.2 22 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - - - -
hk |J7&FE26TH =1 5 R3 R3.8.12 [ 13.2 | 7.3 21 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - - - -
hk |J7&FE26TH 1] e R4 R4.8.4 [ 14.2] 7.3 19 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - - - -
R |J8KFAEI4TH ZE 5k R1 R1.8.14 | 14.0] 7.6 34 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0071 - - - - - - - - - -
R |J8KFAEI4TH ZE iR R2 R2.7.9 [ 12.6] 7.2 41 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0063] - - - - - - - - - -
R [J10&FE21TH =1 [5Ev R1 R1.8.19 [ 14.5] 7.1 17 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - - - -
R |[J11EFEISTH ZE il R1 R1.8.14 | 20.0 | 7.7 36 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0098] - - - - - - - - - -
R |[IEFEIETH ZE iR R3 R3.8.19 [ 17.7] 8.2 21 [<0.0005] <0.1 [<0.005] <0.04 | <0.001]<0.0005[<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 <0.002] <0.055] 0.2 [ 0.09 [<0.005
hk |J14&FEISTH ZE il R1 R1.8.20 | 16.5 | 6.8 42 - - - - - - - - - [<0.0002] - ]<0.002[<0.008] - - [<0.002]0.0081 - - - - - - - - - -
sl 15%FI9TH 8 [P R1 R1.8.22 [ 12.9 ] 6.8 40 - - - - 0.002 - - - — - - - - - - - — — — _ — — _ _ _ _ _
E] HhLVDEIEITH FikpL 02| BER R1 R1.8.15 | 14.5] 8.1 14 [<0.0005] <0.1 [<0.005] <0.04 [<0.001]<0.0005]<0.0005] <0.002[<0.0002[<0.0002] <0. 0004] <0. 002 <0. 008 | <0. 001 [<0. 0006] <0. 002 <0. 0005] <0. 0002 <0. 0006] <0. 0003] <0. 002 ] <0. 001[<0.002[ 0.062 | 0.1 0.07 [<0.005
E| HLDESEITH wEHV0R | #ER R3 R3.7.26 | 26.0 | 8.5 43 - - - - <0.001 - - — — - - - - - - - — — _ — — — _ - _ - -
it [#EEE1%Z6TH [ iR R4 R4.7.1 [ 12.4] 8.2 23 [<0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005[<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 | 0. 002] <0.055] <0.1 [ 0.16 [<0.005
E| EIRIZK6TH [ #EHE R1 R1.8.22 | 11.7] 7.2 16 - - [<0.005] - 0.014 - - — - - - - - - - - _ _ - - _ - - - - - -
E| EIRIZK6TH [ #E R2 R2.8.18 | 11.3 ]| 7.0 21 - - [<0.005] - 0.013 - - — - - - - - - - - _ _ - - _ - - _ - - -
E| EIRIZK6TH [ #E R3 R3.7.29 [ 12.2] 7.0 22 - - [<0.005] - 0.014 - - — - - - - - - - - _ _ - - _ - - _ - - -
E| EIRIFK6TH [ #E R4 R4.8.5 | 13.0 | 7.1 19 - - [<0.005] - 0.007 - - — - - - - - - - - - _ - - _ - - _ _ - -
E| EERRET R E B BER R2 R2.7.4 | 14.4 | 8.3 14 - - - - <0. 001 - - - - — - - - - - - - — — _ — — — _ _ _ _
E| T2 R AT K T 3 AFE [P RS R6.8.7 | 145 | 8.1 24 - - - - [<o0.001 — — - - - - - - - _ _ _ - _ _ - _ _ - - - -
it |[HEMIE2TH FEY HEHE R1 R1.8.22 | 15.9] 7.4 | 39 - - - - Jo.016 - - - - [o0.003 - [<o0.002] 0.13 - - 0.002 [<0.0005] - - - - - - - - - -
it |[HEMIE2TH FEY HEHE R2 R2.8.20 | 18.6 | 7.2 49 - - - - Jo.0070] - - - - Jo.0002] - ]<0.002] 0.11 - - [0.0020]<0.0005] - - - - - - - - - -
it |[HEMIE2TH FEY HEHE R3 R3.7.28 [ 13.0 ] 7.1 49 - - - - Jo.017 - - - - Jo.0004] - ]<0.002] 0.13 - - 0.002 [<0.0005] - - - - - - - - - -
it |HEMIE2TH FEY HEHE R4 R4.8.5 [ 18.5 ] 7.3 47 - - - - 0.007 - - - - Jo.0002] - ]<0.002] 0.16 - - 0.003 [<0.0005] - - - - - - - - - -
it |[HEMIE2TH FEY HEHE R5 R5.9.12 [ 13.7 ] 7.1 49 - - - - Jo.018 - - - - Jo.0003] - ]<0.002] 0.15 - - 0.003 [<0.0005] - - - - - - - - - -
E! FELEITH FELL BER R1 R1.8.14 | 18.5 | 7.7 22 - - - - 0. 01 - - — - - - - - - — — _ — — _ _ _ _ _ _ _ -
E| FELIEIOTH FELL [P R5 R5.8.25 | 13.6 | 7.3 23 - - - - 0.007 - - - — - - - - - - - - — — _ — — — _ _ _ _
E| FELEIITH FEY #E R1 R1.8.23 | 13.3] 7.8 18 - - - - 0.034 - — - - - - - - - - _ - - _ _ - - _ - - - -
E| FELEIITH FEY #E R2 R2.8.12 | 18.4 ]| 7.7 23 - - - - 0.035 - — - - - - - - - - _ - - _ _ - - _ - - - -
E| HMELIEITH FELL HEHE R3 R3.8.10 | 12.5 | 7.5 25 - - - - 0.033 - - - - - - - - - - - - - - _ _ _ Z _ _ _ _
E| FELIEIITH FEY #E R4 R4.8.5 | 18.8 | 7.7 25 - - - - 0.031 - — - - - - - - - - _ - - _ _ - - _ - - - -
E| FELEIITH FEY #E RS R5.9.28 | 13.4] 7.6 26 - - - - 0.037 - — - - - - - - - - _ - - _ _ - - _ - - - -
it |HEBAEI6TH FEMA | B R1 R1.8.27 [ 16.2 | 7.1 27 [<0.0005] <0.1 [<0.005] <0.04 | <0.001]<0.0005[<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [ <0. 0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 <0.002] 0.088 | 0.1 0.16_[<0.005
it |[HERSESTH FEY #EHE R1 R1.8.22 [ 12.2 | 7.5 33 - - - - [o0.049 - - - - ]0.0025] - ]<0.002[ 0.05 - - [<0.002]<0.0005] - - - - - - - - - -
it |[HERSESTH FEY #EHE R2 R2.8.12 [ 13.1] 7.4 | 42 - - - - [o0.067 - - - - [<0.0002] - ]<0.002[ 0.027 - - [<0.002]<0.0005] - - - - - - - - - -
it |[HERSESTH FEY #EHE R3 R3.8.10 [ 13.0 | 7.2 27 - - - - [o.037 - - - - [<0.0002] - ]<0.002[ 0.019 - - [<0.002]<0.0005] - - - - - - - - - -
it |[HERSESTH FEY #EHE R4 R4.8.5 [ 14.3] 7.4 [ 41 - - - - [o0.043 - - - - [<0.0002] - ]<0.002[ 0.030 - - [<0.002]<0.0005] - - - - - - - - - -
it |[HERSESTH FEY HEHE RS R5.10.3 | 12.4 | 7.3 45 - - - - [o0.054 - - - - [<0.0002] - ]<0.002[ 0.039 - - [<0.002]<0.0005] - - - - - - - - - -
it [#HEREK6TH FEY #Rn R3 R3.7.26 | 14.4 ] 7.6 41 [<0.0005] <0.1 [<0.005] <0.04 | 0.034 [<0.0005]<0.0005] <0. 002 <0. 0002] <0. 0002] <0. 0004] <0. 002 [ 0. 024 | <0. 001 ]<0. 0006] <0. 002 [ <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 <0. 002 <0. 055] 0. 1 0.13 [<0.005




Wi FTKREHER (&)

(SHTEE~FHNSEE)

e o 1,2 1,1 1,2 1,1,1]1,1,2 M) 7+ 1,3 THER,

5 [N o #RAE WE | KB | pH | [N 94| 2YFY EAl A g | woker| pes |V 7?” miEf 7””. yhon | ¥ hmn | YT 4mm | hy4om | MYHERD oo oo | yham | F97h | YIVY NS avey| E:37 so%|E5%|LA

B Bt BEWMRR Sm | #x AEFAR Bax o o IS T il Il Il ol ol I Il B 17 ey i
°c mS/m | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L | mg/L
MTFARDKEFHICHRLBEREEB [ () NFEEREBIEHIE] 0.003 | F#&Hi | 0.01 0.05 0.01 [0.0005| 4| 0.02 [ 0.002 | 0.002 | 0.004 0.1 0.04 1 0.006 | 0.01 0.01 [ 0.002 | 0.006 | 0.003 | 0.02 0.01 0.01 10 0.8 1 0.05

b |FELIELI4TE FELAE iR R3 R3.8.10 13.5 1.4 27 - - - - 0.022 - - - - - - - - - - - - - - - - - - - - - -
b |FELIELI4TE FELAE AT R4 R4.8.6 12.8 1.4 27 - - - - 0.019 - - - - - - - - - - - - - - - - - - - - - -
b |FELIELI4TE FELR AT R5 R5.9.12 12.7 1.3 27 - - - - 0.028 - - - - - - - - - - - - - - - - - - - - - -
b |FELIL6TH FEL R R3 R3.11.29 [ 24.0 | 7.4 23 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
d |FELILITH FEL R R3 R3.11.29 [ 12.0 | 7.8 26 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
b |FELIEITHE FEL AT R3 R3.8.10 5.0 | 7.5 28 - - - - 0.05 - - - - - - - - - - - - - - - - - - - - - -
d  |FELIEITHE FEL AT R4 R4.8.6 17.0 | 7.5 28 - - - - 0. 051 - - - - - - - - - - - - - - - - - - - - - -
b |FELIEINTHE FEL AT R5 R5.9. 26 12.8 1.4 29 - - - - 0.068 - - - - - - - - - - - - - - - - - - - - - -
b |FELI0L8TH FEL AT R1 R1.8.23 13.3 | 8.0 28 - - - - 0.095 - - - - - - - - - - - - - - - - - - - - - -
b |FELI0K8TH FEL A R2 R2.8.12 12.5 1.1 34 - - - - 0.11 - - - - - - - - - - - - - - - - - - - - - -
b |FELUIKIETH FELA AT R1 R1.8.23 13.2 1.9 19 - - - - 0.03 - - - - - - - - - - - - - - - - - - - - - -
b |FELUIKIETH FELA A R2 R2.8.12 13.7 1.5 24 - - - - 0.033 - - - - - - - - - - - - - - - - - - - - - -
b |FELUIKIETH FELA A R3 R3.8.10 12.5 1.4 24 - - - - 0.029 - - - - - - - - - - - - - - - - - - - - - -
b |FELUIKIETH FELA A R4 R4.8.5 18.2 1.6 23 - - - - 0.027 - - - - - - - - - - - - - - - - - - - - - -
b |FELUIKIETH FELA A R5 R5.9.12 14.2 1.4 25 - - - - 0.034 - - - - - - - - - - - - - - - - - - - - - -
b |FELUAE FELAE HE T R1 R1.8.23 12.3 [ 8.0 28 - - <0. 005 - 0.002 - - - - - - - - - - - - - - - - <0. 001 - - - 0.49 -
b |FELUAE FELAE HE T R2 R2.8.18 12.8 1.5 36 - - <0. 005 - 0.0010 - - - - - - - - - - - - - - - - <0. 001 - - - 0.34 -
b |FELUAE FELAE HE T R3 R3.8.10 15.5 | 6.8 38 - - 0.009 - <0. 001 - - - - - - - - - - - - - - - - <0. 001 - - - 0.2 -
b |FELUAE FELAE HE B R4 R4.8.5 22.3 1.5 36 - - <0. 005 - 0.002 - - - - - - - - - - - - - - - - <0. 001 - - - 0.46 -
b |FELUAE FELAE HEH5E R5 R5.9.15 12.1 1.1 44 - <0. 005 - <0. 001 - - - - - - - - - - - - - - - - <0. 001 - - - 0.44 -
b |[FE LR E i HELFE iR R5 R5.8.21 13.3 1.2 39 |<0.0003| <O0. <0.005| <0.01 | <0.001|<0.0005]|<0.0005 <0.002 | <0.0002|<0.0002| <0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005] 0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | <0. 002 [ 0.055| 0.1 0.04 [<0.005
b |$I2%&8TH il BER R4 R4.7.1 16.4 | 7.4 30 ]<0.0005| <O0. <0.005| <0.02 | 0.005 |<0.0005]<0.0005 <0.002|<0.0002|<0.0002|<0. 0004 <0.002| <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | 0. 002 | <0.055| <0.1 | <0.02 [<0.005
d  |FI4E3TH ol AT R1 R1.8.21 17.4 | 1.3 22 - - - 0.006 - - - - <0. 0002 - <0. 002 | 0. 008 - - <0. 002 | <0. 0005 - - - - <0. 001 - - - - -
b |FI4E3TH ol AT R2 R2.8.19 12.0 | 7.5 46 - - - - 0.016 - - - - <0. 0002 - <0.002| 0.093 - - <0. 002 | <0. 0005 - - - - <0. 001 - - - - -
b |FI4E8TH # % R2 R2.7.4 13.0 | 7.3 22 - - - - 0. 0050 - - - - - - - - - - - - - - - - - - - - - -
b |FIISESTH ol AT R3 R3.8.10 13.0 | 7.1 43 - - - - 0.004 - - - - <0. 0002 - <0.002 | 0.042 - - 0. 003 | <0.0005 - - - - <0. 001 - - - - -
b |FIISESTH ol AT R4 R4.8.9 19.2 1.5 40 - - - - 0.002 - - - - <0. 0002 - <0.002| 0.043 - - 0. 003 | <0.0005 - - - - <0. 001 - - - - -
b |FIISESTH ol AT R5 R5.9.14 13.8 1.3 43 - - - - 0.004 - - - - <0. 0002 - <0.002 | 0.044 - - 0. 003 | <0.0005 - - - - - - - - - -
t |[EHVOESTH FEHVOE | R R5 R5.7.28 | 21.7 [ 8.2 13 [<0.0003] <0.1 |<0.005| <0.01 [<0.001|<0.0005]<0.0005| <0.002 [<0.0002|<0.0002]<0.0004| <0. 002 [ <0.008 | <0.001]<0.0006| <0. 002 [ <0.0005| <0. 0002 <0. 0006 <0. 0003 | 0. 002 | 0. 001 <0.002|<0.055[ 0.1 0.05 [<0.005
d | KF6£3ITH AT BER R3 R3.8.13 14.3 1.1 24 1<0.0005| <0.1 |<0.005| <0.04 | 0.004 |<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0.0004| <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | €0.002| 0.071 0.1 0.07 [<0.005
d | KFI2Z1TH AFE iR R1 R1.8.29 14.0 | 8.1 14 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |HEHE8EK3ITH HEH BER R2 R2.7.13 15.3 | 8.2 15 [<0.0005| <0.1 |<0.005| <0.02 [<0.001|<0.0005]<0.0005| <0.002 [<0.0002)<0.0002|<0.0004| <0.002 | <0.008 | <0. 001 |<0.0006| <0. 002 | <0. 0005| 0. 0002 <0. 0006 | <0. 0003 | <0. 002 | <0. 001 | <0. 002 | <0.055| 0.10 | 0.040 | <0.005
b |EHEEEH o] iR R4 R4.7.4 15.8 1.1 31 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |d6EFEE6TH ko] Bia R4 R4.7.8 17.4 | 6.8 36 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 0.0022 - - - - - - - - - -
d |HTEEITH ko] Bia R4 R4.7.8 14.8 1.2 35 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 0.0032 - - - - - - - - - -
b |d7EFELATH ki) HEH5E R1 R1.8.14 14.9 1.2 35 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.002 | 0. 0097 - - - - - - - - - -
b |d7EFELATH ki) HEH5E R2 R2.8.24 13.0 | 6.8 43 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.0020 0. 0053 - - - - - - - - - -
b |d7EFELATH ki) HEH5E R3 R3.8.12 13.6 1.2 40 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 | 0.0009 - - - - - - - - - -
b |dt8KAE3ITH ki) % R4 R4.6.30 12.5 1.6 37 1<0.0005| <0.1 |<0.005| <0.02 | 0.001 |<0.0005]|<0.0005| <0.002| 0.0002 |<0.0002|<0.0004| <0.002| <0. 008 | <0. 001 | <0. 0006 <0.002| 0. 0013 |<0.0002| <0. 0006 | <0. 0003| <0. 002 | <0.001|<0.002| 4.5 <0.1 0.22 [<0.005
b |d8EFEATH ki) Bia R4 R4.7.8 13.3 7.1 39 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 | 0.0020 - - - - - - - - - -
b |d9EKFEITH fo i) Bia R1 R1.8.23 13.3 1.4 29 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 [ 0. 0058 - - - - - - - - - -
b |d10&#E3ITH Fodi] iR R2 R2.7.7 16.5 1.1 25 - - - - 0.0070 - - - - - - - - - - - - - - - - - - - - - -
b |dt14%#ESTH Jk iR R1 R1.8.22 12.7] 6.8 36 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
b |d15&&EITH Jk A R3 R3.7.26 13.5 7.0 50 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
b |d15&&EITH Jk A R4 R4.8.10 13.8 | 6.9 46 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
b |d15&&EITH Jk A R5 R5.9.29 12.8 | 6.9 49 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
b |dt18%#EI3ITH it s R3 R3.7.26 13.2 | 6.8 49 1<0.0005| <0.1 |<0.005| <0.04 | 0.002 |<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0.0004| <0.002| <0. 008 | <0. 001 | <0. 0006 <0.002| 0. 0075 | <0.0002| <0. 0006 | <0. 0003| <0. 002 | <0. 001 |<0.002| 5.2 <0.1 0.22 [<0.005
b |d18%#EITH Jk R R2 R2.7.20 13.2 1.3 47 - - - - 0. 0060 - - - - - - - - - - - - - - - - - - - - - -
b |d19%&@EIITH Jk iR R5 R5.7.27 14.1 1.6 20 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |d19%#I12TH Jk R R2 R2.7.20 15.2 1.8 21 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |d21%£#EI0TH Jk AT R1 R1.8.29 15.7 1.3 39 - - - - 0.007 - - - - - - - - - - - - - - - - - - - - - -
b |d22%#%EITH Jk R R2 R2.7.20 18.3 | 8.2 27 - - - - 0.0010 - - - - - - - - - - - - - - - - - - - - - -
b |d22%#%EITH it AT R3 R3.8.12 18.5 | 8.2 24 - - <0. 005 - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |d22%#EITH it AT R4 R4.8.5 20.9 ] 8.2 23 - - <0. 005 - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |d22%#EITH it A R5 R5.10.2 19.1 8.1 25 - - 0.007 - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |dt23%@I14TH R4k R R2 R2.7.20 14.1 1.5 21 - - - - 0.0010 - - - - - - - - - - - - - - - - - - - - - -
b |dt24%#E4TH it BER R1 R1.8.13 | 20.0 | 8.1 14 [<0.0005| <O. <0.005| <0.04 | <0.001|<0.0005|<0.0005] <0.002 | <0.0002|<0.0002| <0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005] 0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | 0. 002 | 0.055| <0.1 0.07 [<0.005
b |dt24%#E5TH it BER R5 R5.7.28 12.3 1.4 24 1<0.0003| <0. <0.005| <0.01 | 0.003 |<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005 <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | 0. 002 | <0.055| 0.2 0.3 |<0.005
b |d27%:EITH Jk A R3 R3.8.12 11.5 1.2 44 - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
b |d27%:EITH Jk A R4 R4.8.4 12.7 1.3 40 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
b |d27%:EITH Jk A R5 R5.9.12 14.9 1.2 42 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
b |d29%#E2TH Jk % R3 R3.7.26 15.56 | 8.2 14 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |d31ETE6TH Jk AT R2 R2.9.9 24.8 1.4 33 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
b |dt32%#E3TH Jk AT R1 R1.8.23 13.4 | 7.7 34 - - - - 0.015 - - - - - - - - - - - - - - - - - - - - - -
b |Jdt38%#E2TH BRE iR R4 R4.7.1 14.6 1.1 46 - - - 0.004 - - - - - - - - - - - - - - - - - - - - - -
b |dt40%&#ESTH R BER R2 R2.7.8 18.1 8.2 29 1<0.0005| <O0. <0.005| <0.02 | 0.0020|<0.0005]|<0.0005| <0.002 | <0. 0002 <0.0002| <0. 0004 | <0. 002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005 0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001|<0.002| 0.084 | <0.1 0.19 [<0.005
R | EHRETEH E¥% BER R2 R2.7.9 12.0 | 8.4 17 [<0.0005| <O. <0.005| <0.02 | <0.001|<0.0005]<0.0005] <0.002 | <0.0002|<0.0002| <0. 0004 <0. 002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005 <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | <0.002 | <0.055| 0.10 | 0.030 [<0.005
R | EBXAE E¥% iR R4 R4.7.4 19.7 | 8.0 19 - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
R |BErEi L& iR R1 R1.8.15 | 22.7 | 8.0 20 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
R |BErEi L& iR R5 R5.8.21 13.0 | 8.3 20 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
R |REERIE2TH K] BER R3 R3.7.27 15.9 | 8.3 17 [<0.0005| <0.1 |<0.005| <0.04 [<0.001|<0.0005|<0.0005| <0.002 |<0.0002|<0.0002|<0.0004| <0.002 | <0.008| <0. 001 |<0.0006| <0. 002 | <0. 0005| 0. 0002 <0. 0006 | <0. 0003 | <0. 002 | <0. 001 | <0. 002 | <0.055| 0.2 0.03 [<0.005
R O|R®EBIKITH PNEE N Bia R4 R4.11.15 [ 19.5 1.5 42 - - - - - - - - - <0. 0002 - <0. 002 | 0. 004 - - 0.002 | 0.027 - - - - - - - - - -
R O|RBEEIKITH B BER R4 R4.7.5 11.8 1.5 48 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002| 0.017 - - - - - - - - - -
R O|RBEEIKITH B HE T R5 R5.9.27 1.3 1.3 50 - - - - - - - - - <0. 0002 - <0.002 0.008 - - 0.002 | 0.035 - - - - - - - - - -
R |REE2EITH PNEE N Bia R4 R4.11.18 [ 14.5 | 8.0 16 - - - - - - - - - <0. 0002 - <0. 002 | 0. 004 - - <0. 002 | <0. 0005 - - - - - - - - - -
R |EER2%3TH L& A R1 R1.8.13 13.0 | 7.4 33 - - - - 0.022 - - - - - - - - - - - - - - - - - - - - - -
R |EER2%3TH L& A R2 R2.8.20 1.1 1.3 39 - - - - 0.027 - - - - - - - - - - - - - - - - - - - - - -
R |EE#R2%3TH L& A R3 R3.7.29 1.0 7.2 41 - - - - 0.023 - - - - - - - - - - - - - - - - - - - - - -
R |EE#R2%3TH L& A R4 R4.8.29 10.2 1.3 40 - - - - 0.029 - - - - - - - - - - - - - - - - - - - - - -
R |REH2EITH K] Bia R4 R4.11.15 [ 13.0 | 7.8 14 - - - - - - - - - <0. 0002 - <0. 002 | 0. 004 - - <0. 002 | <0. 0005 - - - - - - - - - -
R |EE#R2%3TH L& A R5 R5.9.27 12.0 | 7.3 44 - - - - 0.030 - - - - - - - - - - - - - - - - - - - - - -
R |R®HIEITH PNEE N Bia R4 R4.11.15 [ 13.0 | 7.3 36 - - - - - - - - - <0. 0002 - <0. 002 | 0. 004 - - <0.002 0.0022 - - - - - - - - - -
R’ |KEILK2TH PNEE N HE R1 R1.8.23 9.4 1.1 31 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.002 | 0. 0095 - - - - - - - - - -
R’ |KEIK2TH PNEE N HE R2 R2.8.13 12.8 1.4 19 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 0. 0057 - - - - - - - - - -
R’ |KEIK2TH PNEE N HE R3 R3.7.29 | 29.2 1.3 16 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0. 002 | <0. 0005 - - - - - - - - - -
R’ |KEIK2TH PNEE N HE T R4 R4.8.18 13.2 1.6 35 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.002 | 0.0078 - - - - - - - - - -
R’ |KEIK2TH PNEE N HE R5 R5.9.12 18.8 1.4 37 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002( 0.0074 - - - - - - - - - -
R’ |KE2%4TH PNEE N Bia R4 R4.11.22 | 9.5 1.1 16 - - - - - - - - - <0. 0002 - <0. 002 | 0. 004 - - <0. 002 | <0. 0005 - - - - - - - - - -
R |RE4FATH PNEE N BER R4 R4. 7.4 17.0 | 7.1 46 [<0.0005| <0.1 |<0.005| <0.02 | 0.001 |<0.0005]<0.0005| <0.002 | 0.0002 |<0.0002|<0.0004| <0.002| <0.008| 0.001 [<0.0006| <0.002| 0.021 |<0.0002|<0.0006]<0.0003| <0.002|<0.001[<0.002| 2.6 <0.1 0.33 [<0.005
R [IKEHAKATH PNEE N HEHE R5 R5.9.29 | 21.3 1.1 47 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002| 0.026 - - - - - - - - - -
R [KESKITH NN Bia R4 R4.11.15 | 12.5 1.2 47 - - - - - - - - - <0. 0002 - <0. 002 | 0. 004 - - <0.002| 0.020 - - - - - - - - - -
R |4EEI6TH i BER R2 R2.7.30 15.7 1.2 43 1<0.0005| <0.1 |<0.005| <0.02 | 0.0020<0.0005]|<0.0005] <0.002 | <0.0002|<0.0002| <0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0.002 | 0. 0056 | <0.0002| <0. 0006 | <0. 0003| <0. 002 | <0. 001 | <0.002| 5.40 <0.1 0. 13 [<0.005
R |J5FXEI3TH B iR R4 R4.7.5 12.8 | 8.0 13 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
R |J6EXE3ITH BE iR R1 R1.8.27 140 7.3 17 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
R |HTEESTH BE AT R2 R2.9.8 14.1 1.2 21 - - - - 0. 0020 - - - - - - - - - - - - - - - - - - - - - -
R |HTEESTH BE AT R3 R3.8.17 13.0 | 7.2 20 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
R |HTEESTH BE AT R4 R4.8.23 16.8 1.5 19 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
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Wi TKRERER (£W] (FHNTEE~FHSFE)

1,2 1,1 1,2 (1,1,1]1,1,2 ) 7h3 1,3

. womme| BE | BE . K | oH [ BR pvwn| 27y | @ | S | sk [gokeg| o | Y)7P0 |EEME| 9RR 4 ohnn | oohon | sohan | Mo | Mosmn | son | smn | vihon | #osa | vevy | AN [wvey| ey |mREs| so%|E5%
= e BEMNE e |z |WEFAR BEE e oo I I il Il il ol Bl I IR B 17 iy
°C mS/m | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L [ mg/L | mg/L | mg/L [ mg/L | mg/L | meg/L | mg/L | mg/L
WTFAKDKEFEICHIBEEERB [ () NIEGRBEHEHE] 0.003 [ F#&H| 0.01 | 0.05 [ 0.01 [0.0005] F#&H| 0.02 [ 0.002 [ 0.002 [ 0.004 [ 0.1 [ 0.04 1 0.006 | 0.01 | 0.01 | 0.002 [ 0.006 [ 0.003 | 0.02 | 0.01 | 0.01 10 0.8 1
B [RIERITHE L 55 R2 R2.12.2 | 10.0 | 8.0 - - - - - - - - - - [<0.0002] - [<0.002[<0.004] - - [<0.002]<0.0005] - - - - - - - - —
R |TEHRITH i 5 R3 | R3.8.13 [ 11.9| 80 | 14 - - - - [<0.001| - - - - - - - - - - - - - - - - - Z Z 0.1 =
R |TEHRITH i 5 R4 | R4.8.18 | 11.8 | 80 | 14 - - - - [<0.001| - - - - - - - - - - - - - - - - - Z Z 01 =
R |TEHRITH miE 5 RS | R5.9.27 [ 11.4| 80 | 14 - - - - [<0.001| - - - - - - - - - - - - - - - - - Z Z 0.1 =
H [IZEHITH SR #Rn R3 R3.7.30 | 13.0 | 7.3 | 26 [<0.0005] <0.1 [<0.005] <0.04 | 0.002 [<0.0005]<0.0005] <0.002 ] 0. 0003 [<0.0002]<0.0004] <0. 002 <0. 008 [ <0. 001 [<0. 0006] <0. 002 [ <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 | <0. 001] <0.002| 1 0.1 0.27
B’ O|ETEEIOTH 3 [P RS R5.7.26 | 13.6 | 6.9 40 - - - - 0.001 — - - - - - - - _ _ - Z Z - — - - - _ - n
B [J12%FEI4TH = M R1 R1.8.27 [ 16.5 [ 7.5 | 29 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002] 0.011 - - - - - - - - z
B [J12%FEI4TH = M R2 R2.8.12 [ 12.7 ] 7.4 | 35 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0075] - - - - - - - - z
B [J12%FEI4TH = M R3 R3.8.17 [ 14.5] 7.3 | 37 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0066] - - - - - - - - z
B [J12%®EI4TH SE i R4 R4.8.17 [ 19.0[ 7.5 | 33 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0081] - - - - - - - - z
B [J12%®EI4TH SE i R5 R5.9.12 [ 16.3 | 7.4 | 35 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0065] - - - - - - - - z
B [JI3EEI6TH TTHT i R1 R1.8.29 | 13.3 | 7.6 | 34 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.018] - - - - [<0.001] - - - -
B [JI3EEI6TH T AT R2 R2.8.24 | 150 7.3 | 4 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.019] - - - - [<0.001] - - - -
H |[ITERATHE 15 R4 R&.7.4 [ 15.4] 7.1 50 [<0.0005] <0.1 [<0.005] <0.02 | 0.001 [<0.0005]<0.0005] <0.002<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 | <0. 001 ]<0.0006] 0. 002 [ 0. 0028 <0. 0002 <0. 0006 <0. 0003] <0. 002 [ <0. 001[<0.002] 0.93 | <0.1 | 0.36
B [ITEEI4THE AR R3 R3.8.17 | 11.2 | 7.4 | 36 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0005] - - - - [<0.001] - - - -
B [ITERI4THE AR R4 R4.8.23 | 11.2| 7.4 | 36 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0010] - - - - [<0.001] - - - -
B [ITERI4THE i R5 R5.9.21 | 10.6 | 7.4 | 37 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0008] - - - - - - z z -
B [JI18EEIITH T iR R5 R5.7.26 | 17.1 | 7.3 | 40 [<0.0003] <0.1 [<0.005] <0.01 | 0.003 [<0.0005]<0.0005] <0.002] 0. 0004 [<0.0002]<0.0004] <0. 002 [ <0. 008 [ <0. 001 [ <0. 0006{ <0. 002 [ <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 | <0. 001 <0.002| 2.9 0.1 0. 25
B’ O|EI9FRITH [P R2 R2.7.6 122 | 7.5 47 - - - - 0. 0030 - - - — - - - - - - - — — — _ — — _ _ _ _
B O|d22%®RITH [ R1 R1.8.26 | 11.4 | 7.6 15 - - - — [o0.016] - - - - - - - - - - - - z z z z - - - - -
R’ O|22%®ITH 5 R2 R2.8.19 [ 11.9 | 7.5 18 - - - - 0.017 — - - - - - - - - _ - - _ - - _ - - - - -
R’ O|22%®ITH 5 R3 R3.8.12 | 11.8 | 7.6 18 - - - - 0.014 — - - - - - - - - _ - - _ - - _ - - - - -
B O|d22%®RITH [ R4 R4.8.18 | 12.0 [ 7.6 17 - - - — [o0.020] - - - - - - - - - - - - z z z z - - - - -
B O|d22%®RITH [ R5 R5.9.29 | 11.4 | 7.5 18 - - - - [o0.016] - - - - - - - - - - - - z z z z - - - - -
B |dt22%&®EI0TH S [ R1 R1.8.29 | 16.2 | 7.7 | 34 - - - - 0. 004 - - - - - - - - - z z z - - - - - - - - -
EEFZES V=] EES #Rn R3 R3.7.26 | 11.5 | 7.1 47 1<0.0005] <0.1 [<0.005] <0.04 | 0.003 [<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 [ <0. 001 [<0. 0006] 0. 005 [<0. 0005]<0. 0002[<0. 0006 <0. 0003] <0. 002 | <0. 001 <0.002| 1.5 0.1 0.29
B’ |dL23%®|STH ElAES [P RS R5.8.9 [ 20.1] 7.3 51 - - - - 0.003 — - - - - - - - _ _ - Z Z - — - - - — - n
B [J27EEI9OTH TTHT #Rn R1 R1.8.20 | 14.1] 7.8 10 [<0.0005] <0.1 [<0.005] <0.04 [<0.001[<0.0005]<0.0005] <0. 002 [<0.0002[<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 | <0.0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 [ <0. 001 ] <0. 002[<0.055[ 0.2 [ 0.03
B’ O|dL27&®20TH JTET iR R3 R3.8.10 | 16.5 | 7.9 18 - - - — [<0.001 — - - - - - - - _ _ - Z Z - — - - - - - -
B [J36EEITH Ei] #n R1 R1.8.20 | 16.2 | 7.6 | 20 [<0.0005] <0.1 [<0.005] <0.04 | 0.006 |<0.0005]<0.0005] <0.002]<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 [ <0. 001 [<0. 0006] <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 | <0. 001 <0. 002 <0.055| 0. 1 0.3
B [JL3TEEI6TH E3 [ R5 R5.9.28 | 12.0 | 7.9 | 42 - - - - [o0.042] - - - - - - - - - Z - Z - - - - - - - - -
B [JITEEITTH E3 i R1 R1.8.26 | 14.3 | 8.0 | 36 - - - — [o0.038] - - - - - - - - - - - - z z z z - - - - -
B’ O|d3TEEITTH ES 5 R2 R2.8.12 [ 12.7] 8.1 41 - - - - 0.044 — - - - - - - - - _ - - _ - - _ - - - - -
B’ O|d3TEEITTH ES 5 R3 R3.7.29 | 16.0 | 8.5 38 - - - - 0.029 — - - - - - - - - _ - - _ - - _ - - - - -
B [JITEEITTH E3 [ R4 R4.8.18 | 19.4 | 8.2 | 40 - - - -~ [0.037 - - - - - - - - - - - - z z z z - - - - -
ENERIES VIR ES B R2 R2.7.17 | 16.0 | 8.2 | 22 [<0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005]<0.0005] <0.002 | <0.0002]<0.0002]<0.0004] <0. 002 ] <0. 008 | <0. 001 <0. 0006] <0. 002 [ <0. 0005 <0. 0002] <0. 0006 <0. 0003] <0. 002 [ <0. 001 [ <0.002] 0.067 | 0.20 | 0.19
B O|JL39FHI6TH KR =P R1 R2.1.27 [ 11.0 ] 8.1 15 - - - - <0. 001 - - - — - - - - - - - — — — _ — — _ - _ _
BO|dL42%HISTH ES 3 AL R1 R2.1.27 | 10.5 | 7.4 17 - - - - 0.002 — — - - - - - - - _ _ - _ _ - _ _ - - - -
R’ O|dL42%FI6TH ES [P R1 R1.8.13 [ 12.0 | 7.9 28 - - - - 0.02 — — - - - - - - - - _ - - _ - - _ - - - -
R’O|dL42%FI6TH ES #E R2 R2.8.19 [ 10.9 | 7.9 38 - - - - 0.017 — — - - - - - - - - _ - - _ - - _ - - - -
R’|dL42%FI6TH ES #E R3 R3.7.29 [ 11.0 ] 7.8 38 - - - - 0.022 — — - - - - - - - - _ - - _ - - _ - - - -
R |[JL42%HI6TH £ Y HE R4 R4.9.2 11.6 | 7.9 36 - - - - 0.019 - - - - - - - - - - - - - _ _ _ _ _ _ _ -
R’|dL42%FI6TH ES #E RS R5.10.2 | 11.0 | 7.8 38 - - - - 0.027 — — - - - - - - - - _ - - _ - - _ - - - -
B’O|dL42%EI9TH ES =P R1 R2.1.27 | 41.5] 7.6 19 - - - - [<o0.001 — — - - - - - - - _ _ - _ _ - _ _ - - - -
B |JL45FHI6TH ES AL R1 R2.1.27 | 9.0 | 7.6 29 - - - - 0.007 — — - - - - - - - _ _ - _ _ - _ _ - - - -
B [J48EEHITH Ei] iR R5 R5.8.7 | 16.5 | 7.8 | 24 [<0.0003] <0.1 [<0.005] <0.01 | 0.002 [<0.0005]<0.0005] <0. 002 ]<0.0002]<0.0002]<0. 0004] <0. 002 [ <0. 008 [ <0. 001 [<0. 0006] <0. 002 [ <0. 0005 <0. 0002] <0. 0006] <0. 0003] <0. 002 | <0. 001 <0.002] <0.055] 0. 1 0.14
B |dL46FEI9TH £ Y [P R4 R4.7.5 145 7.9 17 - - - - <0. 001 - - - — - - - - - - - — — — _ — — _ Z _ _
B [J49%H2TH Ei] [ R1 R1.8.14 | 20.5 | 7.8 19 - - - - - - - - - - - - - - - - - - z z (<0001 = - - -
R JL49%E2TH i) AT R2 R2.8.25 21.5 1.6 27 - - - - - - - - - - - - - - — — _ _ _ - _ <0. 001 _ _ _ _
R |dL49F®2TH EXi 3 R3 R3.7.26 | 21.0 | 7.5 17 - - - - 0.002 — — - - - - - - - _ _ - _ _ - _ - - - - -
B [J49%H2TH ESi] [ R3 R3.8.12 | 14.5| 7.7 | 25 - - - - - - - - - - - - - - - - - - z z (<0001 = - - -
R _|XBIEITH REART | M R1 R1.8.27 | 11.7] 7.4 15 - - - - 0.013 - — - - - - - - - - _ - - _ - - - - - - -
R _|AXBIEITH REART | M R2 R2.8.13 | 10.3 ]| 7.5 39 - - - - 0.015 - — - - - - - - - - _ - - _ - - _ - - - -
R _|AXRIEITH REARRT | M R3 R3.7.29 [ 12.0] 7.3 19 - - - - 0.013 - — - - - - - - - - _ - - _ - - _ - - - -
R _|AXRIEITH REARE | M R4 R4.8.18 | 10.2 | 7.4 19 - - - - 0.013 - — - - - - - - - - _ - - _ - - _ - - - -
R _|AXRIEITH REARE | M RS R5.9.12 | 11.5 ]| 7.3 20 - - - - 0.015 - — - - - - - - - - _ - - _ - - _ - - - -
R |AEIZATH REXRR | #E R R1.8.26 | 13.0 | 6.9 | 33 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - -~ [0.003[0.064 - - - - - - Z Z -
R |AREIRATH IREAHET | M R2 R2.8.4 | 13.0 | 6.8 | 28 - - - - - - - - - [<0.0002] - [<0.002][<0.008] - - [0.0020{0.036] - - - - - - - - -
R |AEIZATH REXRR | #E RS | R3.7.29 | 12.8 | 6.8 | 37 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [0.002[0.048 - - - - - - Z Z -
R |AEIZATH REXRR | #E R4 | R4.8.18 | 13.5| 6.9 | 35 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [0.003[0.051 - - - - - - Z Z -
R |AEZATH REXRR | #E RS | R6.9.13 | 13.3| 6.9 | 37 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [0.003[0.051 - - - - - - Z Z -
B |AREN2%ITH REAR | #BR R2 R2.7.6 | 10.6 | 7.3 43 - - - — [0.0030] - — - - - - - - - _ _ - _ _ - _ _ - - - -
R |AERKITH REAHT | ED R4 |[R411.15]| 9.5 | 7.3 | 43 - - - - - - - - - [<0.0002] - [<0.002][<0.004] - - [<0.002]0.0093] - - - - - - - - -
BE |XBI3TH E=Es [5Ev R3 R4.1.12 | 12.0 | 6.5 - - - - - - - - - - [<0.0002] - [<0.002[<0.004] - - [<0.002]<0.0005] - - - - - - - - -
BE |XBI3TH E=Es [5Ev R3 R&.1.11 | 14.0] 6.3 - - - - - - - - - - [<0.0002] - [<0.002[<0.004] - - [<0.002]<0.0005] - - - - - - - - -
BE |XBI3TH E=Es [5Ev R3 R&.1.12 | 11.0 | 6.4 - - - - - - - - - - [<0.0002] - [<0.002[<0.004] - - [<0.002]<0.0005] - - - - - - - - -
BE |XBI3TH E=Es i R4 R4.8.23 | 16.6 | 6.7 | 29 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - <0.1 -
BE |XBI3TH E=Es i R5 R5.9.28 | 14.3 | 6.6 | 29 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - <0.1 -
BHA [X&I8TH BHAER 5 R2 R2.9.15 | 9.7 | 7.7 13 - - - - [<o0.001 — - - - - - - - - _ _ - _ _ - _ _ - - — -
BHA [X&I8TH HAER il R3 R3.7.27 | 21.6 | 7.3 10 - - - - 0.001 — - - - - - - - - _ _ - _ _ - _ _ - - - -
BA |[$K2EI1TH B [P R2 R2.7.31 [ 12.5] 7.2 36 - - - — [0.0020] - - - - - - - - _ _ - _ _ - _ _ _ - - - -
BE |#K3EITH B #35n R4 R4.7.5 [ 19.0 | 7.4 | 35 [<0.0005] <0.1 [<0.005] <0.02 | <0.001[<0.0005]<0.0005] <0.002] 0. 0002 ]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 [<0. 0006] <0. 002 [ 0. 0013 [<0. 0002 <0. 0006] <0. 0003| <0. 002 | <0.001]<0.002] 2.8 [ <0.1 | 0.23
BE |#K3E4TH B i R1 R1.8.20 | 18.2 | 7.0 | 32 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002] 0.01 - - - - - - - - -
BE |#K3E4TH B i R2 R2.8.20 | 19.5 | 7.0 | 39 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002] 0.010 - - - - - - z z -
BE |#K3E4TH B i R3 R3.7.30 | 14.7 | 6.6 | 40 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.013] - - - - - - z z -
BE |#K3E4TH B i R4 R4.8.29 | 140 6.8 | 36 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0036] - - - - - - z z -
BE |#K3E4TH B i R5 R5.9.13 | 17.4 | 6.8 | 38 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002] 0.017 - - - - - - z z -
BE |#K3E5TH B 55 R1 R1.8.29 | 19.8 | 7.7 | 20 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0021] - - - - - - z z -
EERETREIRN:] B [5Ev R1 R1.8.23 | 9.5 [ 7.7 | 31 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0036] - - - - - - - - -
EERETREIRN:] B 55 R3 R3.7.19 | 144 7.2 | 35 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0019] - - - - - - z z -
BE |#K4E2TH B 55 R3 R3.7.30 | 12.7 ] 6.7 | 39 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0039] - - - - - - z z -
BE |#KIEITH B i R1 R1.8.26 | 19.3 | 6.6 | 23 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0041] - - - - - - z z -
BE |#KIEITH B i R2 R2.8.24 | 19.1 | 6.5 | 38 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0054] - - - - - - z z -
BE |#KIE3TH B 55 R1 R1.8.19 | 17.0 | 7.0 | 29 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0092] - - - - - - z z -
BA |[$HKIEITH B 5 R3 R3.7.30 | 15.1 | 6.7 36 - - - — [<0.001 — - - - - - - - _ _ _ - _ _ - _ _ - - - -
BA |[$HKIEITH B #E R4 R4.8.23 | 14.8 ]| 1.3 16 - - - <0.02 | 0.001 — — - - - - - - - _ _ - _ _ - _ _ - - - -
BA |[$HKIEITH B #E RS R5.9.15 | 19.8 | 7.2 17 - - - <0.01 ] 0.002 — — - - - - - - - _ _ - _ _ - _ _ - - - -
BE |#Kk8E2TH B 55 R1 R1.8.20 | 16.5 | 6.8 | 35 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0066] - - - - - - z z -
BE |#K8E2TH B 55 R3 R3.7.27 | 147 6.7 | 42 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0052] - - - - - - z z -
BE |#HKTH8EITH FHNE iR R3 R3.7.27 [ 18.2 [ 7.9 12 [<0.0005] <0.1 [<0.005] <0.04 [ 0.007 [<0.0005]<0.0005] <0. 002 [<0.0002[<0. 0002[<0. 0004] <0. 002 | <0. 008 <0. 001 <0.0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006] <0. 0003] <0. 002 <0. 001 ] <0. 002 <0.055] 0.1 [ <0.02
BAE |#KERIE4ATH EK [5Ev R1 R1.8.14 | 13.2 | 6.8 | 35 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]0.0051] - - - - - - - - -
BAE |#KER4EITH FK [5Ev R1 R1.8.13 | 18.5 [ 7.5 13 - - - - - - - - - [<0.0002] - [<0.002[<0.008] - - [<0.002]<0.0005] - - - - - - - z -
BA [JIT4EITH tEER | #E R4 R4.9.8 [ 14.8] 7.7 38 - - - - [<o0.001 — - - - - - - - - _ - - _ - - _ _ - - - -
BA [JIT4EITH tEER | #E RS R5.9.28 [ 13.9 | 7.7 38 - - - - 0.001 — - - - - - - - - _ - - _ - - _ - - - - -
BHA [JIT4E5TH tEER | #E R1 R1.8.28 | 15.3 | 7.7 24 - - - - 0.044 — - - - - - - - - _ - - _ - - _ _ - - - -
BHA [JIT4E5TH tEER | #E R2 R2.9.2 [12.7] 7.8 31 - - - - 0.030 — - - - - - - - - _ - - _ - - _ - - - - -
BA [JIT4E5TH tEER | #E R3 R3.7.30 [ 15.3 | 7.7 32 - - - - 0.039 — - - - - - - - - _ - - _ - - _ - - - - -
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Wi FTKREHER (&)

(SHTEE~FHNSEE)

5 womme| BAE | BE | K& | o | B (aven| &y | om0 | B | mam |mokam| pos | Vo0 (] oo | N2 L DR e | Linn | gun | ghe | s | mk | sy | TNY [eors| wo |ds | so%| mam| LA
= PRI BEWMRR Sm | #x AEFAR BRE o Mo | BR | TV | Ty | sy |y | ooey | ooey | asly | osn ['any 17 tE% Y
°c mS/m | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L [ mg/L | mg/L | mg/L | mg/L | mg/L | mg/L
MTFARDKEFHICHRLBEREEB [ () NFEEREBIEHIE] 0.003 | F#&Hi | 0.01 0.05 0.01 [0.0005| 4| 0.02 [ 0.002 | 0.002 | 0.004 0.1 0.04 1 0.006 | 0.01 0.01 [ 0.002 | 0.006 | 0.003 | 0.02 0.01 0.01 10 0.8 1 0.05
BAE |JITHE# FEDE iR R1 R1.8.21 12.1 6.9 14 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
BAE |JITHE# ttEBE iR R4 R4.7.14 12.8 | 8.5 14 - - - - 0.003 - - - - - - - - - - - - - - - - - - - - - -
BAE |JIF1E3TH tEBHR BER R2 R2.7.14 18.8 | 8.1 34 1<0.0005| <0.1 |<0.005| <0.02 | 0.0020<0.0005]<0.0005]| <0.002|<0.0002|<0.0002|<0.0004| <0.002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0.0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 [<0.002| 0.092 | <0.1 | <0.02 [<0.005
BAE |JIdtEi El4=kS) R R1 R1.8.14 5.7 8.3 21 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
BE |PR2%EITH =k =) Bia R1 R1.8.22 19.5 1.3 21 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0. 002 | <0. 0005 - - - - - - - - - -
BE |PRIEKITH =k =) Bia R1 R1.8.19 17.0 | 7.5 13 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0. 002 | <0. 0005 - - - - - - - - - -
BAR |PHRIEKS5TH BA iR R4 R4.7.8 15.2 | 8.1 12 - - - - 0.004 - - - - - - - - - - - - - - - - - - - - - -
BE |HiLEIEITH FAL IR HE 5 R1 R1.8. 26 10.9 | 6.8 35 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002| 0.013 - - - - - - - - - -
BE |HALEIZITH FAL IR HE 5 R2 R2.8.6 10.8 | 6.7 41 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002( 0.010 - - - - - - - - - -
BE |HiLRIZLITH AL IR BER R5 R5.8.7 12.8 | 6.6 38 1<0.0003] <0.1 |<0.005| <0.01 | <0.001|<0.0005]|<0.0005] <0.002|<0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0.002| 0. 0008 | <0.0002| <0. 0006 | <0. 0003| <0. 002 | <0. 001 | <0.002| 4.90 <0.1 [ 0.020 | <0.005
BA |HiR2&1TH HALIR iR R3 R3.7.21 11.2 7.0 33 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
BE |HiLE3E2TH AL IR HE R3 R3.8.17 10.6 | 6.9 34 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 0.0034 - - - - - - - - - -
BE |HiLE3E2TH AL IR HE R4 R4.9.1 1.0 7.1 28 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 0.0027 - - - - - - - - - -
BE |HiLE3E2TH AL IR HE R5 R5.9.29 10.4 | 7.1 22 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002 0.0024 - - - - - - - - - -
BE |HiLR4EITH FAL IR % R1 R1.8.20 19.3 7.1 19 [<0.0005| <0.1 |<0.005| <0.04 [ 0.002 |<0.0005]|<0.0005| <0.002 |<0.0002|<0.0002|<0.0004| <0.002 | <0.008 | <0. 001 |<0.0006{ <0.002 | 0. 0009 | <0. 0002 <0. 0006 | <0. 0003 | <0. 002 | <0. 001 | <0. 002 3 <0.1 0.03 [<0.005
BR |EREITTESE BHEE R R3 R3.7.27 12.8 | 8.5 8 - - - - 0.004 - - - - - - - - - - - - - - - - - - - - - -
BE |ES&EITHI ®EA BER R3 R3.7.27 13.5 1.8 10 [<0.0005| <0.1 |<0.005| <0.04 [ 0.003 |<0.0005]<0.0005| <0.002 [<0.0002|<0.0002|<0.0004| <0. 002 [ <0.008 | <0. 001 |<0.0006| <0. 002 [ <0. 0005 <0. 0002 <0. 0006 <0. 0003 | 0. 002 | 0. 001 | <0.002| 0.056 0.1 <0.02 | 0. 005
BAR |XKEB2%1TH FEDE R R1 R1.8.22 14.9 | 8.1 10 - - - - 0.004 - - - - - - - - - - - - - - - - - - - - - -
BR |EXEEiH FEDE iR R5 R5.8.8 12.3 1.8 26 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
BE |FHEIETHR BER BER R5 R5.8.30 10.7 1.1 9 <0.0003[ <0.1 |<0.005] <0.01 | 0.002 [<0.0005]<0.0005| <0. 002 |<0.0002]<0.0002|<0.0004| <0. 002 | <0. 008 | <0.001 |<0.0006| <0. 002 | <0.0005] <0. 0002 <0. 0006 <0. 0003| <0. 002 | <0. 001 | <0.002| 0.075 0.1 <0.02 | 0. 005
BE |tEWMIKSTH El4=ks) 5% R1 R1.8.26 18.8 | 6.9 35 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.003 | 0.1 - - - - - - - - - -
BE |tHEWMI%STH El4=ks) 5% R2 R2.8.28 16.8 | 6.8 43 - - - - - - - - - <0. 0002 - <0.002 | 0. 0080 - - 0.0030| 0.30 - - - - - - - - - -
BE |tHEWMI%STH El4=ks) 5% R3 R3.7.30 12.3 | 6.7 47 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.002 | 0.27 - - - - - - - - - -
BE |tHEWMI%STH El4=ks) 5% R4 R4.8.18 16.8 | 6.8 43 - - - - - - - - - <0. 0002 - <0.002 0.008 - - 0.003 | 0.29 - - - - - - - - - -
BE |JtHEWMIKSTH El4=ks) 5% R5 R5.9.13 14.4 | 6.8 45 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - 0.003 | 0.24 - - - - - - - - - -
BAE |Jt#E3%2TH El4=ks) ) R4 R4.7.5 1.8 | 6.3 27 1<0.0005| <0.1 |<0.005| <0.02 | <0.001|<0.0005]|<0.0005] <0.002|<0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001|<0.002| 7.0 <0.1 0.12 [<0.005
BA [JHE3IK3ITH El4=kS) AT R1 R1.8.26 1.4 7.0 19 - - - - 0.008 - - - - - - - - - - - - - - - - - - - - - -
BA [JHE3IK3ITH El4=kS) % R2 R2.7.15 | 20.3 [ 8.3 15.0 - - - - 0. 0060 - - - - - - - - - - - - - - - - - - - - - -
BA [JHE3IK3ITH El4=kS) AT R2 R2.9.1 10.5 7.0 25 - - - - 0. 0080 - - - - - - - - - - - - - - - - - - - - - -
BA [JHE3IK3ITH El4=kS) AT R3 R3.7.30 10.2 | 6.8 28 - - - - 0.011 - - - - - - - - - - - - - - - - - - - - - -
BA |[JHE3IK3ITH El4=kS) AT R4 R4.9.3 10.8 | 6.9 26 - - - - 0.012 - - - - - - - - - - - - - - - - - - - - - -
BA |JHE4EK3TH El4=kS) AT R5 R5.10.4 13.0 | 6.4 26 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
BA |LEEi El4=kS) R R1 R1.8.22 12.9 1.5 13 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
BRE | AETTH®E HEA iR R5 R5.7.26 11.6 1.3 13 - - - - 0.004 - - - - - - - - - - - - - - - - - - - - - -
BA | XAEEITH HEA iR R1 R1.8.22 12.0 | 7.7 9 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
BE |X&ITH =k =) BER R2 R2.7.16 12.6 | 6.6 42 1<0.0005| <0.1 |<0.005| <0.02 | 0.0010]<0.0005]|<0.0005] <0.002 | <0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005] 0. 0002| <0. 0006 | <0. 0003| <0. 002 | <0. 001 | <0.002| 5.50 <0.1 0.18 [<0.005
BAE [X#@1TTH BER BER R1 R1.8.14 12.5 7.1 24 1<0.0005| <0.1 |<0.005| <0.04 | 0.001 |<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0. 0004 <0.002| <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 |<0.002| 9.3 <0.1 0.05 [<0.005
BR |H&Et>2—1TH BHEE iR R3 R3.7.27 18.0 | 8.3 16 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
B |3#LEBEITH #HLE BER R2 R2.7.16 16. 1 1.4 21 1<0.0005| <0.1 |<0.005| <0.02 | <0.001|<0.0005]|<0.0005] <0.002 | <0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005] <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001|<0.002| 0.19 <0.1 [ 0.040 | <0.005
ER |3#LEBEITH HLE BEiR R4 R4.8.2 12.0 | 6.3 29 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
ER |ERIFE2%&3TH BRI iR R1 R1.8.22 12.8 | 6.5 13 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
B3l |ERIFE25EITH A7 i R | RI1.8.26 | 10.4| 6.7 | 34 - - - - - - - - - - - - - - - - - - - - - - - 15 - - -
ER |EAFEIEITH BRI7 | ##% | Rz | R2.9.3 | 18.9| 6.6 | 39 - - - - - - - - - - - - - - - - - - - - - - - [15.00] - - -
B3l |ERIFE25EITH A7 i RS | R3.7.30 | 13.1 ] 6.5 | 38 - - - - - - - - - - - - - - - - - - - - - - - 14 - - -
B3l |ERIFE25EITH A7 i R4 R&9.2 [19.2] 6.7 | 34 - - - - - - - - - - - - - - - - - - - - - - - 11 - - -
5l |ERIFE25EITH A7 i RE | R5.9.15 | 18.6 | 6.6 | 36 - - - - - - - - - - - - - - - - - - - - - - - 12 - - -
E5l |ERIhRIZ6TH ERlhR | BuR R2_ | R2.7.14 [ 15.3| 8.4 | 16 - - - [<0.001] - - - - - - - - - - - - - - - - - - - - - -
B3l |ERHPRIFITH ESILES BER R4 R4.7.21 13.5 | 6.6 25 1<0.0005| <0. <0.005| <0.02 | <0.001]<0.0005|<0.0005] <0.002 | <0.0002| <0.0002| <0. 0004 <0. 002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005] 0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001|<0.002| 5.2 <0.1 0.07 [<0.005
E R | JE R ET L 2R F E 3178 iR R3 R3.7.27 | 20.7 [ 8.3 13 [<0.0005| <O. <0.005| <0.04 | 0.001 |<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | €0.002 | <0.055| 0.2 0.02 [<0.005
ER | ERIBTILAZE# ER#E BEiR R5 R5.8.8 21.3 1.5 22 - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
ER |ERIEIZ2TH ERIE R R3 R3.11.26 [ 11.1 7.0 19 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
B3 |ER®R3EITH IESES BER R3 R3.7.27 | 240 | 7.4 40 [<0.0005| <0.1 |<0.005| <0.04 | 0.041 |<0.0005]<0.0005| <0.002 [<0.0002|<0.0002|<0. 0004 <0. 002 | <0. 008 | 0. 001 | <0.0006| <0. 002 | <0. 0005 | <0. 0002 <0. 0006 | <0. 0003 <0. 002 | 0. 001 | 0. 002| 0.059 0.2 0.18 [<0.005
ER |ERIEIFITH ERIE AT R4 R4.9.2 15.2 1.5 30 - - - - 0.022 - - - - - - - - - - - - - - - - - - - - - -
ER |EREIEFITH ERIE AT R5 R5.9.28 | 23.9 1.4 38 - - - - 0. 040 - - - - - - - - - - - - - - - - - - - - - -
ER |ERIEIZ2TH ERIE % R1 R1.8.19 | 23.5 [ 8.3 14 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
ER |ERIEIZITH ERIE R R3 R3.11.26 [ 11.3 | 8.0 22 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
ER |ERIFEAEZ2TH ERIE R R3 R3.11.26 [ 16.1 8.5 16 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
ER |ERIFEAEZ2TH ERIE iR R5 R5.8.8 17.3 | 8.4 15 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
E3l | EEiR3%2TH E R BER R5 R5.8.8 1.9 | 6.7 14 [<0.0003] <0.1 |<0.005| <0.01 [ 0.001 |<0.0005]<0.0005| <0.002 [<0.0002|<0.0002|<0.0004| <0.002 | <0.008 | <0. 001 |<0.0006| <0. 002 | <0. 0005| <0. 0002 <0. 0006 <0. 0003 | <0. 002 | <0.001]<0.002| 3.3 <0.1 0.02 [<0.005
ER |ERmE4TH ERlm iR R3 R3.7.27 15.0 | 8.2 16 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
ER | EEMITH BE iR R2 R2.7.30 1.7 6.5 16 - - - - 0.0010 - - - - - - - - - - - - - - - - - - - - - -
B3 |FERITH HIEMAT BER R4 R4.8.4 23.7] 6.9 22 1<0.0005| <0.1 |<0.005| <0.02 | <0.001|<0.0005]|<0.0005] <0.002|<0.0002|<0.0002|<0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005| <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 |<0.002| 6.7 <0.1 0.15 [<0.005
B3l | KaM®EITH = BER R1 R1.8.13 11.5 1.9 8.4 [<0.0005| <0.1 |<0.005| <0.04 [ 0.008 |<0.0005]<0.0005| <0.002 [<0.0002|<0.0002]<0.0004| <0. 002 | <0.008 | <0.001|<0.0006| <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003 | 0. 002 | <0. 001 <0.002| 0.076 0.1 0.03 [<0.005
2T AEABIFITH AE iR R3 R3.7.27 10.5 1.2 16 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
BF |AEMGESTH A BER R5 R5.7.28 12.6 1.1 16 [<0.0003] <0.1 |<0.005| <0.01 [ 0.006 |<0.0005]<0.0005| <0.002 [<0.0002|<0.0002|<0.0004| <0.002 | <0.008 | <0. 001 |<0.0006| <0. 002 [ <0. 0005| <0. 0002 <0. 0006 <0. 0003 | <0. 002 | 0. 001]<0.002| 0.52 0.2 0.05 [<0.005
B2F AESPREIITH AXE BER R1 R1.8.15 16.0 | 6.3 26 |<0.0005| <0.1 0.01 [ <0.04 | 0.001 |<0.0005]|<0.0005 <0.002 |<0.0002|<0.0002|<0.0004[ <0.002 | <0.008| <0. 001 |<0.0006| <0. 002 | <0. 0005| <0. 0002 <0. 0006 <0. 0003 | <0. 002 | <0.001]<0.002| 6.8 <0.1 0.04 [<0.005
2F AEFRIZISTH HAE iR R1 R1.8.14 13.5 1.1 9.8 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
B2F |AERIZISTH RAX BER R3 R3.7.27 18.3 1.1 14 [<0.0005| <0.1 |<0.005| <0.04 [ 0.001 |<0.0005]<0.0005| <0.002 [<0.0002|<0.0002|<0.0004| <0.002 | <0.008 | <0. 001 |<0.0006| <0. 002 | <0. 0005| <0. 0002 <0. 0006 <0. 0003 | <0. 002 | <0.001]<0.002| 0.3 0.1 <0.02 | 0. 005
2F | AERIZIITH HAE A R4 R4.8.23 12.8 | 6.6 22 - - - <0.02 - - - - - - - - - - - - - - - - - - - - - - -
2F | AERIZIITH HAE A R5 R5.9.15 13.1 6.7 20 - - - <0.01 - - - - - - - - - - - - - - - - - - - - - - -
2T | AEHSEISTH HAE iR R5 R5.7.26 13.4 | 7.0 23 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
2T |FEE4KI0TH FaE BER R4 R4.7.21 16.9 | 6.5 35 1<0.0005| <0.1 |<0.005| <0.02 | <0.001|<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0.0004| <0.002| <0. 008 | <0. 001 [<0.0006| 0.003 |<0.0005]|<0.0002|<0.0006|<0.0003] <0. 002 | <0. 001 | 0. 002 10 <0.1 0.02 [<0.005
2F |AEE4KISTH Jricf | iR R2 R2.7.10 1.4 ] 6.3 21 - - - - <0. 001 - - - - - - - - - - - - - - - - - - - - - -
2T |AEEE Jricf | A R5 R5.9.15 14.8 1.2 33 - - 0. 0080 - - - - - - - - - - - - - - - - - - - - - - - -
B2F |PO52%2TH i) BER R2 R2.7.13 16.8 1.2 42 1<0.0005| <0.1 |<0.005| <0.02 | 0.0020<0.0005]|<0.0005] <0.002 | <0.0002|<0.0002| <0. 0004 <0.002 | <0. 008 | <0. 001 | <0. 0006 | <0. 002 | <0. 0005] 0. 0002| <0. 0006 | <0. 0003| <0. 002 | <0. 001|<0.002| 5.10 <0.1 0. 11 [<0.005
2T dDE2%8TH FDE iR R4 R4.7.22 | 20.2 1.4 43 - - - - 0.002 - - - - - - - - - - - - - - - - - - - - - -
2F |EEIK2TH EJE iR R5 R5.7.26 12.1 6.5 44 - - - - 0.001 - - - - - - - - - - - - - - - - - - - - - -
BF |EE2%4TH EJ5] HE R1 R1.8.28 12.9 | 6.7 46 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002| 0.023 - - - - - - - - - -
EE254TH EJ5] HE T R2 R2.9.2 12.8 | 6.7 58 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002| 0.025 - - - - - - - - - -
EE254TH EJ5] HEHE R3 R3.7.30 14.8 | 6.6 64 - - - - - - - - - <0. 0002 - <0. 002 | 0. 008 - - <0.002| 0.018 - - - - - - - - - -
ZE254TH =E k5T R4 R4.9. 1 .2 | 6.6 53 - - - - - - - - - <0. 000: - <0.002 | 0. 00: - - <0.002] 0.017 - - - - - - - - - -
ZE254TH =E [T RS R5.10.2 41 6.7 57 - - - - - - - - - <0. 000: - <0.002 | 0. 00: - - <0.002| 0.026 - - - - - - - - - -
ZE3IFK6TH =E BR R3 R3.7.27 4.7 ] 6. 43 1<0.0005| <0.1 [<0.005[ <0.04 | 0.001 |<0.0005|<0.0005 <0.002 | <0.0002]<0.0002]|<0. 0004 <0.002 | <0.008] <0. 001 | <0. 0006 <0.002 | 0. 0015 ] <0. 0002 <0. 0006 | <0. 0003 <0. 002 | <0.001|<0.002| 1.1 0.1 <0.02 | <0.005
ZEIZITH E3e R | R RIL8 14 [ 17.5] 7. L - - - - [oooi| - - - - - - - - - - - - - - - - - - - - - -
TBIE3%E8TH B BR R RE.7.22 | 20.9 | 1. - - - - [<0.001] - - - - - - - - - - - - - = = - - - - - - -
BE3RITH 18 R R2 R2.7.14 . 1.7 <0.0005[ <0.1 |<0.005] <0.02 | 0.0020 [<0.0005]<0.0005] <0. 002 |<0.0002]<0.0002|<0.0004] <0. 002 | <0. 008 | 0. 001 |<0.0006] <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003| <0. 002 | <0. 001 | <0.002]<0.055| <0.1 [ 0.020 |<0.005
FEEIEITH E [ R2_| R2.9.18 5[ 7. - - - - - - - - - [<0.0002] - [<0.002]<0.008] - - [<0.002]0.0024] - - - - - - - - - -
FEEIEITH E [ R3_| R3.7.30 2] 6. 4 - - - - - - - - — [<0.0002] = [<0.002]<0.008] - —[<0.002]0.0033] - - - - - - - - - -
FEEIEITH E i R4 RAO.1 [ 13.8 | 7. 4 - - - - - - - —[<0.0002] - ]<0.002][<0.008] - —[<0.002]0.0025] - - - - - - - - -
FEEIEITH E [ Rb | R6.0.156 [ 22.7 7.3 - - - - - - - - — [<0.0002] = [<0.002]<0.008] - —<0.002]<0.0005] - - - - - - - - - -
FE256TH I BER RS Rb.7.28 46| 8.4 25 1<0.0003] <0.1 [<0.005| <0.01 |<0.001]<0.0005]<0.0005] <0.002|<0.0002]|<0.0002]<0.0004| <0.002| <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005 <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001 | <0.002 | <0.055] 0.2 0.22 [<0.005
TE2%16TH BE BER R4 4.7.7 1.8 1.2 37 1<0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005]|<0.0005] <0.002|<0.0002]|<0.0002|<0.0004| <0.002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005] <0. 0002 <0. 0006 | <0. 0003| <0. 002 | <0. 001|<0.002| 0.12 <0.1 0.02 [<0.005
FEIEITH E e R RT.3. 791 6.8 [ 4 - - - - - - - - - [<0.0002] - [<0.002]<0.008] - - [<0.002]0.019] - - - - - - - - - -
TE3%EITH T R R R3. 7. 6.5 7.6 = - - - [<0.001] - - - - - - - - - - - - - - - - - - - - - -
FEIESTH T R R R1.8. 51 83 0 [<0.0005] <0.1 [<0.005] <0.04 [<0. 001]<0_0005]<0_0005] <0. 002 |<0_0002]<0_0002]<0_0004] <0. 002 <0. 008 <0. 001]<0_0006] <0. 002 [ <0_0005]<0_0002]<0_0006]<0_0003] <0. 002 <0. 001 <0.002| 0.007 | 0.2 | 025 [<0.005
TEI1EI3TH BEE BR R R2. 7. .2 1.8 4 - - - - 0. 0020 - - - - - - - - - - - - - - - - - - - - - -
EFIEITH =F R R R 7 [ 140] 7.0 7 - - - - - - - - - [<0.0002] - [<0.002] 0.029 | - - 0003|004 ] - - - - - - - - - -
B¥3IXITH 2F k5T R R2. 6.1 6.9 - - - - - - - - - <0. 000: - <0.002 0.0090 - - 0.0020] 0.030 - - - - - - - - - -
EEXEIDEE =5 [ R3_| R3.8. 3.0 6.8 - - - - - - - - — [<0.0002] = [<0.002] 0.01 - - _[0002]0.03 ] - - - - - - - - - -
B¥3IXITH 2F T R4 R4.8. 6.2 1.0 0 - - - - - - - - - <0. 000: - <0.002{ 0.011 - - 0.003 | 0.043 - - - - - - - - - -
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o= o= N ER . VAN N v migi | som | . 5 v | FAN Y | oo 5
i EAmERe| BE HE | KiE | oH [ B peeen| 2vrv | s | N | mem |sokem| pes | V700 | PR * | v4on | v hon | Yo 4mn | My4ma | My4oa | hEm hon | yhmn | F93L | vy Ay by
B PREEH BEMNE| 5w | &g |HEFAB i 284 B | BE )V Ty | ey | osy | ook | ey | 1y | Tay |Toay I
°C mS/m | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L | meg/L | mg/L
WTEAKDKELEICHIBEREERB [ () NIEHRBEHIESE] 0.003 [ F#&H| 0.01 | 0.05 [ 0.01 [0.0005] F#&H| 0.02 [ 0.002 [ 0.002 [ 0.004 [ 0.1 [ 0.04 1 0.006 | 0.01 | 0.01 | 0.002 [ 0.006 [ 0.003 | 0.02 | 0.01 | 0.01
T [EFIEITH FEd [o R R5.9.13 3.5] 6.9 - - - - - - - - - [<0.0002] = [<0.002]0.0090] - - 0.002 [0.032| - - - - - -
ET6%6TH E£Xd R R2 R2.7.27 6. 7.3 | 4 - - - - _[0.0010] = - - - - - - - - - - - - - - - - -
E¥8EITH FEd R R4 R4 7.7 7.4 | 7.2 | 42 [<0.0005] <0.1 [<0.005] <0.02 [<0.001|<0.0005]<0.0005] <0.002<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0.0006] <0. 002 0. 0039 |<0. 0002|<0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 00
3 BXAZITH BHEGR | #R R RI.8.19 3. 6.4 <0.0005] <0.1 [<0.005] <0.04 [ <0.001][<0.0005]<0.0005] <0. 002 <0. 0002]<0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [<0. 0006] <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 [ <0. 001 | <0. 00
3 EET TN EE R R2 R2.7.27 0. 7.1 <0.0005] <0.1 [<0.005] <0.02 [ 0. 0030]<0.0005]<0.0005] <0. 002 <0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 [<0. 0006] <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003| <0. 002 [ <0. 001 | <0. 00
; EH BER R4 R4.7.25 6. 7.8 - - - - 0. 001 - — - - - - - - - - _ - — - — - - -
; EHER BER R3 R3.7.27 6.6 7.6 - - - - 0. 001 - - - - - - - - - _ - - = - - - - -
3 BEHER | #R RS RS. 88 | 7.0 <0.0003] <0.1 [<0.005] <0.01 | <0.001[<0.0005]<0. 0005] <0. 002 |<0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 007 | <0. 0006 <0. 002 | <0. 0005] <0. 0002]<0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
F i R R1 RI. 221 7.6 | 87 - - - - 0.004 - - - - - - - - - - - - - - - - - -
3 F ] R RS R5.8.30 | 10.6 | 7.8 0 - - - - _[<0.001] - - - - - - - - - - - - - - - - - -
3 F ] [T R3 R3.7.27 T 1.7 0 [<0.0005] <0.1 [<0.005] <0.04 | 0.008 |<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
& ERELAE | R R R2.7.31 451 6.5 5 - - - - [0.0020] = - - - - - - - - - - - - - - - - -
& ItE R R R2.7.21 441 6. - - - - __0.001 - - - - - - - - - - - - - - - - - -
] 1% ﬁ;} R R4.7.25 2.7 ] 6. <0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005]<0.0005] <0. 002 |<0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 007 | <0. 0006 <0. 002 | <0. 0005]<0. 0002]<0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
P 1% #E 5 R R1.8.27 6. 6. 0 - - - - <0. 00 - — - - - - - - - - _ - — - — - - -
EH ERELAE | R R4 R4.7.26 1. 6.5 5 [<0.0005] <0.1 |<0.005] <0.02 |<0.001|<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
[l E LR [P R4 R4.7.22 0.6 6.5 55 - - - - [<0.00 — - - - - - - = _ - - - - - - - - -
[ i A [T RS R5.8.8 351 6.3 7 - - - - 0.001 - - - = = = _ _ - - - - - - - - - -
% m ﬁﬂ R3 R3.7.19 6.5 7.0 6 [<0.0005] <0.1 |<0.005] <0.04 | 0.004 |<0.0005]<0.0005] <0.002[<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
HiE R RI.8. 14 | 14. 7.7 1 - - - - - - - - = = = - - - - - - - - - - - -
[ 5 3 [T R R1.8.22 8. 7. 7 - - - - 0.007 - - - = = = _ _ _ - - - - - - - - -
Il 2 B N 55 R R2.7.7 0. 7. 8 - - - - - - - - - - - - = = _ - - = - - - - -
| E | B [P R R4.7.22 5.0 7. 8 - - - - [<0.001 - - - - - - - - - = _ _ - = = - - -
% E?%ﬂlllﬂ B R2 R2.7.8 73| 1. 5 [<0.0005] <0.1 [<0.005] <0.02 | 0.0070]<0.0005]<0.0005] <0. 002 |<0. 0002|<0. 0002]<0. 0004] <0. 002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 [<0. 0005 <0. 0002] <0. 0006]<0.0003] <0. 002 [ <0. 001 | <0. 002
[ 55 R2 R2.7. 1.2 6.5 - - - - - - = = = _ _ - - - - - - - - - - - -
& = R R3 R3.7. 571 6.5 <0.0005] <0.1 [<0.005] <0.04 | 0.002 [<0.0005]<0.0005] <0. 002 |<0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005] <0. 0002 <0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
[l =] [P R1 R1.8. 4. 6.7 6 - - - - 0.001 — - - - - - = _ _ - - - - - - - - -
Il Al | #R RS R5.8.8 2. 6.5 8 - - - — [<0.001] - - - - = = = _ - - - - - - - - - -
& Eh0Hk | Bk R4 R4.7.22 3. 6.5 6 [<0.0005] <0.1 [<0.005] <0.02 | 0.001 |<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
[l =0k | FEAD RS RD. 10.3 6.3 | 6. 5 - - - — [0.0030] - - - - - - _ _ - - - - - — — - - -
[ Eh0k | Bk R2 R2.7.9 59 6 5 - - - — [0.0040] - - - = = = _ _ - - - - - - - - - -
Il =0k | FEAD RS R5.7.27 45| 6. 6 - - - - |0.0030] - - - - - - - - = _ _ - = = - - - -
[ EM0GE | B R RI. 2| 6. 0 - - - - 0. 005 - - - - = = _ - - - - - - - - - - -
[ EMDk | Mg R R2.8. 4.3 6.7 5 - - - — [0.0000] - - - - = = _ - - - - - - - - - - -
Il EXor- T R3 R3.8. 0] 6.5 6 - - - - 0.004 - - - = = = - - - - - - - - - - - -
[l =MDF | M R4 R4. 8. 8] 6. - - - - 0. 001 - - - - - - - - = _ _ - = = - - - -
B E30r - D) RS RS. 7. .5 [ 6. - - - - 0.004 - - - - = = _ - - - - - - - - - - -
& EE R R2 R2.7.9 4 6.4 <0.0005] <0.1 [<0.005] <0.02 | 0. 0020]<0.0005]<0. 0005] <0. 002 | <0. 0002]<0. 0002 <0. 0004] <0. 002 | <0. 008 | <0. 007 [ <0. 0006 <0. 002 | <0. 0005 <0. 0002]<0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
& EET R RS RG. 8. 29 4] 6.5 <0.0003] <0. T [<0.005] <0.01 | <0.001]<0.0005]<0.0005] <0. 002 <0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 [<0. 0006 <0. 002 | <0. 0005 <0. 0002 <0. 0006]<0. 0003] <0. 002 <0. 001 | <0. 002
[l Y= [P R4 R4.7.22 6. 6.7 - - - —_ [<0.00 — — - - - - - - _ _ _ - - - - - - -
[ 3 [o R R1.8.26 8.5 1. 6 - - - - [<0.00 - - - - - - - - - - - - - - - - - -
Il B R R2 R2.8.31 . 6. 6 - - - - 10.003 - - - - - - - - - = _ _ - = = - - -
[ R3S [2E R3 R3.8.16 5. 6. 3 - - - -~ [<0.00 - - - = = = _ _ - - - - - - - - - -
[l o] #EHE R4 R4.8. 26 8.0 6. 0 - - - - [<0.00 - - - - - - - - - = _ _ - = = - - -
B[/ REM 3] AR RS R5.9.13 0.1 7.0 - - - —_ [<0.00 - - - - - - = _ _ - = = - - - - - -
B |ELEEREITH TE LR R R2 R2.7.15 341 6.6 <0.0005] <0.1 [<0.005] <0.02 | <0.001]<0.0005]<0. 0005] <0. 002 |<0. 0002]<0. 0002 <0. 0004] <0. 002 | <0. 008 | <0. 001 | <0. 0006 <0. 002 | <0. 0005 <0. 0002]<0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
B [BILE ®E [P R3 R3.8.3 6.5 6.3 - - - - <0.00 - - — - - - - - - - - _ — — - - - -
| M [EFH2£13TH 53 [ R2 R2.7.30 35 6.2 - - - —_ [<0.00 - - - - - - _ _ _ = = - - - - - - =
B |EHIE6T B B (73] R4 R4.7.28 7. 6.1 3 [<0.0005] <0.1 [<0.005] <0.02 |<0.001|<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
B [EH3EITH 5] [o R R1.8.28 6.8 - - - - - - - - - [<0.000 - [<0.002[<0.00 - - [<0.00 5] - - - - - -
B |BEIE3T H B g R2 R2.9.1 6.7 - - - - - - - - — [<0.0002] = [<0.002]<0.00 - —__[<0.00 T - B - - - -
B [BETIE3TH BT ik 5% R3 R3.8.18 .51 6.7 - - - - - - - - —__[<0.000: - 0. 002[<0. 00 - - 0. 00. 43 - - - - - -
B [EH3EITH 5] [2 R4 R4.8.17 6. 6. - - - - - - - - - [<0.000 - [<0.002[<0.00 - - [<0.002][0.0086] - - - - - -
B [EH3E3ITH 5] M RS R5.9.13 6. 6. 7 - - - - - - - - - [<0.000 - [<0.002[<0.00 - - [<0.002[0.018] - - - - - -
| B [F33EFEIOTH BET [P R3 R3.7.19 . 6. - - - - 0.00 - - - - - - - = _ _ - — - - - - - -
B |m3AEAEITH EET R R1 R1.8.27 5] 6 4 [<0.0005] <0.1 |<0.005] <0.04 | 0001 |<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 | <0. 001 [<0. 0006 <0. 002 [ <0. 0005]<0. 0002|<0. 0006 <0. 0003] <0. 002 | <0. 0071 | <0. 00
B |ERIE2TH R R R1 RI. 8. 5] 8 <0.0005] <0.1 [<0.005] <0.04 | 0.001 [<0.0005]<0.0005] <0. 002 <0. 0002]<0. 0002] <0. 0004] <0. 002 [ <0. 008 | <0. 001 [<0. 0006] <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 [ <0. 001 | <0. 00
B |ER3E3ITH BR R RS R5. 8. 7] 6 <0.0003] <0.1 [<0.005] <0.01 | <0.001]<0.0005]<0.0005] <0. 002 <0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 001 [<0. 0006] <0. 002 [ <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 [ <0. 001 | <0. 00
| M [d/RITH FR [P R3 R3. 7. .6 | 6.4 4 - - - - [<0.00 — — - - - - - - = _ _ - - - - - - -
EERET EE R R RI. 8. 6| 6 30 [<0.0005] <0.1 [<0.005] <0.04 |<0.001<0.0005[<0.0005] <0.002 |<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 | <0. 001 [<0.0006] <0. 002 [<0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
FEESRE EE D R R2.10. 50| 65 [ 2 - - - - - - - - - = = = - - _ - - - - - - - -
EEEREE 33 k5T R R2.8. 85[ 6.5 4 - - - - - - - - - — — — - - - - - - - - - - -
| B [E2EES EE [2 R3 R3. 8. 0.0 6.4 - - - - - - - - = = = _ _ - - - - - - - - - -
| B [EEES EE [2 R4 R4. 1.8 6.6 - - - - - - - - = = = _ _ - - - - - - - - - -
EEEREE 3] [T RS RS. 1.3] 6.5 4 - - - - - = - - = — — - - - Z - - - - - - - -
B |EEEH ;3] R RS RG. 7. 26 0.5 6.4 23 [<0.0003] <0.1 [<0.005] <0.01 |0.0010]<0.0005]<0.0005] <0.002 |<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 | <0. 001 [<0.0006] <0. 002 [<0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
B |[ELIE3TH SR fmer | En R4 R4.7.28 2| 1.4 44 ]<0.0005] <0.1 [<0.005] <0.02 [ <0.001<0.0005[<0.0005] <0.002 |<0.0002]<0.0002][<0.0004] <0. 002 <0. 008 | <0. 001 [<0.0006] <0. 002 [<0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 <0. 002
FEITVE XNz Zp=tmEF| R R2 R2.7. 5] 7.0 2 - - - - 0. 001 — - - - - - - - - - - - — — — - - -
i 75 ET [P RS R5. 8. 2. 7.1 3 - - - —_ [<0.00 - - - - - - _ _ = = = - - - - - = =
i IIHE BER R5 R5. 7. 7.4 7.3 3 - - - - <0. 00 - - - - - - - - - - - _ - - = - - -
i WoF BER R1 R1.8. 2. 7. - - - - <0.00 - - - - - - - - - _ - - = - - - - -
[ LD F [T R3 R3.7. 4. 6. <0.0005] <0.1 [<0.005] <0.04 [ <0.001]<0.0005]<0.0005] <0. 002 |<0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 007 [ <0. 0006 <0. 002 | <0. 0005 <0. 0002 <0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
[ FEET R R3 R3.7. 75| 6. 39 [<0.0005] <0.1 [<0.005] <0.04 [<0.001<0.0005[<0.0005] <0.002|<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 | <0. 001 [<0.0006] <0. 002 0. 0027 <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 <0. 002
7 FEHT D RS RD. 3. 7. 30 - - - - - - - - - [<0.000 - [<0.002[<0.00 - - [<0.002[0.0005] = - - - - -
[ FEET [23 R RI.8. 8.4 7.4 9 - - - <0.04 - - - - - [<0.000 - [<0.002[<0.00 - - [<0.002[0.0081] = - - - - -
[ FEET [2 R R2.8.3 5. 7. 0 - - - <0.02 - - - - - [<0.000 - [<0.002[<0.00 - - [<0.002][0.0046] = - - - - -
i FaHT ik 5% R3 R3.7.2 1.2 - - - <0. 04 [ <0.001 - - - - — - - - - - - - - _ - - = -
i FERT HEST R4 R4.9.3 7.4 4 - - - <0. 02 [<0.001 - - - - - - - = _ - = = - - - - - -
[ FEET 55 RS RS. 8. 6.6 | 4 - - - - - - - - - [<0.0002] = [<0.002[<0.008] - - [<0.002[0. 0021 = - - - - -
B |FEHIE6TH il i [P R R . 7.5 7 - - - - [<0.00 - - - - - - - = _ _ - — = - - - - -
B |FEHIE6TH il i [P R R1.8. 41 75 7 - - - -~ [<0.00 - - - - - - - = _ - = = - - - - - -
7 (FEH/EIOTH FEE =R R R1.8.20 25| 7.0 6 - - - - <0.00 - - - - - - - - - - - = - - - - - -
7 [FEEH8ESTH FEE =R R R1.8.14 5.0 7.1 2 - - - - <0.00 - - - - - - - - - - - = - - - - - -
7 (EHIOEITH FEE 3D R R1.8.20 31 1.7 9 - - - - 0. 001 - - - - - - - - - - - - - - - - - -
7 [FEEHIOEITH FEE 3D R R1.8.22 2] 6. 0 - - - - 0. 001 - - - - - - - - - - - - - - - - - -
7 |Pa%r1358T B il 5] [T R R4.7.20 5] 8.4 2 [<0.0005] <0.1 [<0.005] <0.02 [<0.001|<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
B |—F+mE2%ITH EH=tmEr | [F0 R R2.1.7 5| 1.4 - - - - - - - - - - [<0.000 - [<0.002][<0.004] - - [<0.002]<0.0005] - - - - - -
B |/\BF3EFA2TH J\EF R RS R5.7.25 0] 6.6 <0.0003] <0.1 [<0.005] <0.01 | <0.001[<0.0005]<0. 0005] <0. 002 |<0. 0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 | <0. 007 [<0. 0006] <0. 002 | 0. 0016 | <0. 0002 <0.0006]<0.0003] <0. 002 <0. 001 | <0. 002
7 |J\ESERITH J\EF [T R R1.8. 21 551 7.3 4 [<0.0005] <0.1 [<0.005] <0.04 | 0001 |<0.0005]<0.0005] <0.002[<0.0002]<0.0002]<0.0004] <0.002]<0. 008 <0. 001 |<0. 0006] <0. 002 | 0. 0043 [<0. 0002]<0. 0006] <0. 0003] <0. 002 | <0. 001 | <0. 002
7 |[/\BSEEITH J\EF R R =53] R4 R4.11.22 [ 10.5 | 7.0 4 - - - - - - - - - [<0.000: - <0.002]<0. 004 - - <0.002]0.0012 - - - - - -
7 [/\BISE®OTH J\&F BER R R3.7. .3 .2 - - - - <0. 001 - - - - - - - - - - - - - - - - - -
A |/\SF6EFEITH SRR [ Fi R4 R4 7. 5 0 4 - - - - - - - - - [<0.0002] = [<0.002[<0.008] - - [<0.002[<0.0005] - - - - - -
A |/\SF6XFITH NSFhR [ Fi R4 R4. 7. 5 0 3 - - - - - - - - - [<0.0002] = [<0.002[<0.008] - - [<0.002[<0.0005] - - - - - -
7 [\EIEAEIITH J\EF R kY] R2 R2.12.18 .5 1 5 - - - - 0. 0040 - - - - - - - - - - - - - - - - - -
7w N\EIERITH J\EF R R R4 R4.8.3 .6 . [ - - - - 0. 001 - - - - - - - - - - - - - - - - - -
7 [\SHSEFEITH T R& [ RA.11.18 5] 7 4 - - - - - - - - - [<0.000 - [<0.002{<0.004] - - [0.002]0.0029] - - - - - -
A |/\H8EFITH ANEFHRR [ S RS R5.10.3 51 6. 4 - - - - - - - - - [<0.000 - [<0.002[<0.00 - - 0.002 [0.0038] - - - - - -
78 |\ESXEITH ABFhR | @il R4 RA.7.1 40 7. 43 - - - - - - - - - [<0.0002] = [<0.002]<0.00 = - [0.012]0.0025] = = - - - -
7 [\SIXFEITH N\EchR | i R RI.8.2 1] 1 5 - - - - - - - - - [<0.000 - [<0.002{<0.00 - - 10002 [0.0021] - - - - - -
A |/\SFIEFITH ANEFHRR [ SR R2 R2.8.3 A 41 - - - - - - - - - [<0.000 - [<0.002[<0.00 - - [<0.002[0.0007] - - - - - -
7 \BFOXFEITH J\BFchR | R3 R3.7.2 7.0 | 43 - - - - - - - - - [<0.000 - [<0.002]<0.00 - - 0.003 [0.0019] - - - - - -
7 [\BIXFHITH Nk | 5D R4 RA.7.1 A 7.3 1 - - - - - - - - - [<0.000 - [<0.002{<0.00 - - [0.002]0.0024] - - - - - -
B |\EBOEAITH AR | F R2 | R2.12.18 | 155 | 7.6 - - - — [<0.001] - - - = = = - - _ - - - - - - - - -
78 |N\EOXHRSTH NEthR | FHil R&_ | RA.11.18 0] 7.6 6 - - - - - - - - - [<0.0002] - [<0.002[<0.004] - - [<0.002]<0.0005] - = - - - -
B |/\EBF10EAEI2TH JNEFhR | #ER R2 R2.7.21 . 7. 5 [<0.0005] <0.1 [<0.005] <0.02 | 0.020 |<0.0005]<0.0005] <0. 002 [<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 |<0. 0006{ <0. 002 [<0. 0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
7 [\EFI0EFEI2TH J\EF R R k5T R3 R3.7.28 5. 1. 7 - - - - - - - — — - - Z - — = - - - - - - -
7 [\EFI0EFEI2TH J\EF R R k5T R4 R4.9.5 4. 1. 5 - - - - - - — — — - - Z - - - - - - - - - -
7 [\EFI0EFEI2TH J\EF R R BT RS R5.10.3 4. 1. 8 - - - - - - — — — - - Z - - = - - - - - - -
B |/\BF10EAEI3TH AR | F RZ | R2.12.18 | 7.0 | 7.5 6 - - - — [0.0090] - - - = = = _ _ _ - - - - - - - - -
B |EEIFITH HE R RS RG. 7. 28 53] 7.0 | 37 [<0.0003] <0.1 |<0.005] <0.01 |<0.001]<0.0005]<0.0005] <0.002|<0.0002|<0.0002|<0.0004] <0. 002 <0. 008 <0. 001 [<0.0006] <0. 002 [<0.0005]<0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
7 [RESXI2TH RE [P R3 R3.8.17 221 1.5 20 - - - - 0.001 - - - - - - _ _ _ - - - - - — m m -
7| %ESEITH HE R R1 R1.8. 21 7.8 1 7.8 19 [<0.0005] <0.1 [<0.005] <0.04 [ 0.002 [<0.0005[<0. 0005] <0. 002 <0. 0002]<0. 0002]<0. 0004] <0. 002 [ <0. 008 <0. 001 [<0. 0006 <0. 002 [ <0. 0005 <0. 0002[<0. 0006]<0.0003] <0. 002 <0. 001 | <0. 002
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Wi TKRERER (£W] (FHNTEE~FHSFE)

1,2 1,1 1,2 (1,1,1]1,1,2 ) 7h3 1,3

B 5 ER S7% ~ N v migdk | smm | . 21 | sy | FINY [ ooy 8
o ; RE |z KR | pH [ [ah L | &Y7y | 8 Al | g |gmoksg| pep | 700 (& L | vhmn | yvihmm | v 4o | pyhE0 | MyhER | Hmn hon | vihmm | FH5L | Y3y JAA vyt
= it E Fg |FEFAHE R o B | BE )V Ty | ey | osy | ook | ey | 1y | Tay |Toay I
C mS/m | mg/L | mg/L | mg/L | me/L | mg/L | mg/L | meg/L | mg/L | mg/L | mg/L | mg/C | mg/L | mg/L | mg/L | mg/L | mg/L | meg/L | mg/L | mg/L | mg/L | mg/L | mg/L | mg/L
WTFKDKEFRICRLERES 15 H {5 $#HE] 0.003 [ A#&Hi| 0.01 | 0.05 | 0.01 [0.0005[ A#4&Hi| 0.02 | 0.002 [ 0.002 [ 0.004 [ 0.1 0.04 1 0.006 | 0.01 [ 0.01 [ 0.002 | 0.006 | 0.003 [ 0.02 [ 0.01 | 0.01
7 [REIOEITH B R4 R4.7.28 411 6.7 40 - - - - <0. 001 - - - - - - - - — - - - - - - - - -
7 [REEISFIITH £ 5% R R5.9. 26 5.0 7.6 2 - - <0. 005 - - - - - - - - - - _ _ - = = - - - - -
7 |EEIBEITH ! R R2.7.13 7.7 8.0 | 51 [<0.0005] <0.1 [<0.005] <0.02 | 0.0020]<0.0005]<0.0005] <0.002]<0.0002|<0.0002]<0. 0004] <0. 002 <0. 008 | <0. 001 [<0.0006] <0. 002 <0. 0005] <0. 0002 <0. 0006] <0. 0003 <0. 002 | <0. 001 | <0. 002
7 ! R R2.7.16 3.6 1. 23 - - - - lo.017 - - - - - - - - - - - - - - - - - -
i i R R2.12.18 | 8.0 [ 6. 8.2 - - - - <0. 001 - - - - - - - - - - - = - - - - - -
i i R R2.12.18 | 8.5 | 6.6 - - - - <0. 001 - - - - - - - - - - - = - - - - - -
7 P55 R3 R3.7.2 5 7.7 - - - - . 023 - - - - - - - - - - - - - - - - - -
7 s R4 R4.8.3 0] 7.7 - - - - . 023 - - - - - - - - - - - - - - - - - -
7 5 i RS R5.10. 4 3| 7.6 - - - - . 024 - - - - - - - - - - - - - - - - - -
FiE £3TH fEES [P R4 R4.7.2 0] 86 [ 110 - - - - . 085 - - - - - - = = - - - - - - - - - -
Fi &£2TH fEfE2 L 3D R4 R4.11.18 51 7.2 36 - - - —_ [<0.001 - - - - - - _ _ - = = - - - - - - =
£4TH fEES L #E R R1.8.14 0] 7.3 2 - - - - 017 - - - - - - = _ _ - = - - - - - - -
Z4TH RS k5T R2 R2.8.25 9. 6.9 - - - - R - - — — — - - - - - - - - - - - - -
Z4TH RS k5T R3 R3. 8. 5. 7.0 - - - - - - - — — — - - - - - - - - - - - -
Z4TH RIS #EHE R4 R4.8.3 7. 7.0 - - - - - - - - - - - - - - = - - - - - - -
&£4TH fEES L #EE RS R5.9.26 53] 6.9 - - - - 7 - - - - - = = _ - - = - - - - - - -
%&5TH fmEel | FELD R4 [ R4 11.18 [ 10.0 [ 7.1 2 - - - - 011 - - - - = = = _ - - - - - - - - - -
ZATH mEel | BR R R2.7.30 3.7 6.5 52 [<0.0005] <0.1 [<0.005] <0.02 |0.0020]<0.0005]<0.0005] <0. 002 |<0.0002] <0. 0002| <0. 0004] <0. 002 | <0. 008 <0. 001 | <0. 0006] <0. 002 | <0. 0005 <0. 0002 <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
£2T7H fEES L R R R1.8.29 9.3 7.5 3 - - - - [<0.001 — - - - - - = = _ - - - - - - - - -
£2TH fEES L G R R2.8.25 5. 7.4 6 - - - - |0.0030] - - - - - - = = _ - = = - - - - - -
£27H fEEE #EfT R R 5. 7.6 6 - - - - [<0.001 - - - - - - - = _ - - = - - - - - -
£2T fEEE W #EfT R4 R4. 8. 7.5 2 - - - - [<0.001 - - - - - - = _ - - = - - - - - - =
& EE #EfT R R1.9.26 . 8. 5 - - - - 0. 006 - - - - - - = _ _ - = - - - - - - -
O 2F AR R2 R2.8.25 3.0 8 57 - - - — [0.0070] - - - - - - _ _ - = = - - - - - - =
25 B35 R R3.7.16 5.6 1. 30 [<0.0005] <0.1 [<0.005] <0.04 | 0.071 [<0.0005]<0.0005] <0. 002 <0.0002]<0. 0002] <0. 0004] <0. 002 | <0. 008 <0. 001 | <0. 0006] <0. 002 | <0. 0005] <0. 0002 <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
e 2ot R R3.8.11 2.1 1 8.1 57 - - - - 0.005 - - — - - - - - - - _ _ — - — - - -
EE ik 5% R4 R4.9.1 1.0 8.0 67 - - - - 0.009 - - - - - - - - - - _ - - = - - - -
EE #E 5 R4 R4.8.31 1.6 | 1.7 3 - - - - 0.016 - = = = = = = - - - Z Z - = = - = =
e (R RS R5.8.19 3.0 6.8 2 - - - - 0.001 - - - - - - - - - _ - = = - - - - -
EE #Ef5 RS Rb. 9. 26 0.6 | 7.6 3 - - - - 0.017 - = = = = = = - - - Z Z - = = - = =
EE Bl RS Rb.7.27 8.1 66 - - - - 0.006 - = = = = = = - - Z Z - = = = = = =
EE Bl RS Rb.8.19 . 7.0 83 - - - - 0.007 = = = = = = - - - Z Z = = - = = = =
EE Bl RS Rb.7.21 .3 ] 6.5 36 - - - - 0.025 = = = = = = - - - Z Z = = - = = = =
EE Bl RS R5.12. 15 0.0 7.0 | 41.8 - - - - 0.009 = = = = = = - - - Z Z = = - = = = =
2B il RS R5.12. 15 0.0 8.0 | 65.4 - - - - 0.007 = = = = = = - - - Z - = = - = = = =
BiIEH BER RS R5.7.27 AN 60 - - - - <0. 001 - - - - - - - - - - _ - = = - - - -
FHER [ BR R4 R4.7.26 4.7 7. 7 [<0.0005] <0.1 [<0.005] <0.02 | <0.001<0.0005]<0.0005] <0.002]<0.0002]<0.0002]<0. 0004] <0. 002 | <0. 008 <0. 001 [<0. 0006] <0. 002 <0. 0005]<0. 0002 <0. 0006] <0. 0003 <0. 002 | <0. 001 <0. 002
FHEHR BER R R2.7. 4.8 ] 7.3 3 - - - - 0010 - - - - - - - - _ — - — — - - - - -
Fhagki | #ig R R1.8. 14 6.5 1.8 - - - - 3 - - - - = = _ - - - - - - - - - - -
Fhagki | Mg R R2. 0. 7.5 - - - - .04 - - - - = = _ - - - - - - - - - - -
FiEskdt ik 5% R3 R3.8. 5. 7.4 - - - - 04 - - - - - - - - - - - - - - - - - -
Fhagkd | Mg R4 R4.8.3 50 7.5 6 - - - - .06 - - - - = = _ - - - - - - - - - - -
Fhagkd | @ RS RS. 9. 26 4.8 7.4 7 - - - - 04 - - - - = = _ - - - - - - - - - - -
Fhagkdt [ FED R4 R4.11.18 | 15.0 0 - - - - . - - - = = = _ - - - - - - - - - - -
FEskdt ik 5% R R1.9.26 0. .6 5 - - - - <0.00 - - - - - - - - _ _ - = - - - - - -
FiEskdt #E 5 R2 R2.8.25 4. .6 6 - - - - <0.00 - - - - - - - - _ _ - = - - - - - -
Fmasxdt [ #Bn RS R5. 8. 21 3.6 .6 61 [<0.0003] <0.1 [<0.005] <0.01 | <0.001]<0.0005]<0.0005] <0.002]<0.0002]<0.0002]<0.0004] <0. 002 | <0. 008 | <0. 001 | <0. 0006] <0. 002 | <0. 0005 <0. 0002] <0. 0006] <0. 0003| <0. 002 | <0. 001 | <0. 00
Fhgkd | g R R1.8.14 [ 21.0 [ 8.7 | 53 [<0.0005] - [<0.005] - {<0.00 - - - - - - - - - - - - - - - - — <000
Fhgkd | g R R2.9.2 0.5 7 [ 59 [<0.0005] - [<0.005] - {<0.00 - = = - - - - - - = = B B B - - ——1<0.00
FHEgxIL | #i R R3. 53 [<0.0005] - [<0.005] - [<0.00 - - - - - - - - - = = = = = = - —1<0.00
FEsdt | B R R3. . 5 - - - - <0. 00 - - - - - - - - - _ - = - - - - - -
HRE k5T R R3. 8. .0 3 - - - - - — — - — — — - - - _ _ _ - - _ - 20.00 _
HRE k455 R4 R4. 8. 26 5.2 2 - - - - — — — — — - - - - - _ _ _ _ — — - 20.00 _
ﬁ%% ﬂ*_’njtl, ;5 ;5 . 4 ] - - - - - - - - - - - - - - - - - - — — — <0 00 -
ESrE I INEE] TRE R R2 R2.7.13 4.5 <0.0005] <0.1 [<0.005] <0.02 |0.0020]<0.0005]<0.0005] <0. 002 | <0. 0002] <0. 0002] <0. 0004| <0. 002 | <0. 008 | <0. 001 [ <0. 0006 <0. 002 | <0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
FHE |HRE6EITH HRE R R4 R4.7.25 i 3 - - - —_ [<0.001 - - - - - - _ _ _ - - - - - - - - -
FHE |EEIESTH EE R R R1.8.22 4 . 8 - - - - 0.001 - - - - - - _ _ - = = - - - - - - =
FHE |EBEIESTH FEfE2 3D RS R5.7.28 6] 1.5 5 - - - —_ [<0.00 - - - - - - = _ _ = = = - - - - - -
FiE [EEIRSTH fEell | ED RS RS. 7.27 0.4 7.2 37 - - - -~ [<0.00 - - - - - = = _ - - - - - - - - - -
FiE [A=ORE2TH BEAEOR | BLR RS R5.7.27 2.6 7.0 | 22 [<0.0003] <0.1 [<0.005] <0.01 | <0.007][<0.0005[<0.0005] <0.002]<0.0002]<0.0002|<0.0004] <0.002 | <0. 008 <0. 001]<0.0006{ <0. 002 | <0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
FiE |BIEIESTH BIE [P R R1.8.27 6.5 7. 34 - - - - 0.001 — - - - - - = _ _ - - - - - - - - -
Fi [AIEAIZI2TH Fipaxdt | #n R R1.8.19 35| 1.4 21 [<0.0005] <0.1 [<0.005] <0.04 | 0.002 [<0.0005]<0.0005] <0. 002 <0.0002] <0.0002]<0. 0004] <0. 002 | <0. 008 <0. 001 | <0. 0006] <0. 002 | <0. 0005 <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
FiE [BIEIEI2TH Fhagid | #R R3 R3.7.16 521 1. 24 - - - - 0.003 - - - - = = = - - - - - - - - - - -
Fi [AIE2%I13TH BiIE [ R3 R3.7.16 7.5 8 51 [<0.0005] <0.1 [<0.005] <0.04 | <0.001|<0.0005]<0.0005] <0.002]<0.0002]<0.0002]<0.0004] <0. 002 | <0. 008 <0. 001 ]<0.0006] <0. 002 | <0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 | <0. 001 | <0. 002
FiE [BTEHSEKI0TH BiIEH R R R1.8.29 1] 6. 3 - - - - - 04 - - - - - = = _ - - - - - - - - - -
FiE [BIEHSEKI0TH BiIEH #EfT R R2.9.7 3| 6.4 40 - - - - ? - - - - - - - = = _ - - = - - - - -
FfE [AIE8EI0TH Bl E R R3 R3.8. 11 0 6.4 51 - - - - 3 - - - - = = = _ - - - - - - - - - -
FfE [AIE8EI0TH Bl E R R4 R4.8.26 6.2 6 - - - - 4 - - - = = = _ - - - - - - - - - - -
FiE [BIHSEKIOTH BiIEH R RS R5.10.4 4] 6.5 46 - - - - 4 - - - - - - = = _ - - = - - - - - -

B )%3TH BEFAEOR [ MG R R1.8.28 6. 7. 5 - - - - 3 - - - = = = _ - - - - - - - - - - -
)%3TH BEFEEOR | M6 R R2.9.7 8. 7. 46 - - - - 3 - - - = = = _ - - - - - - - - - - -
24T H BEBEOR | #E R3 R3.8.1 7.5 [ 7. 2 - - - - 0. 008 - - - - = = = _ - - - - - - - - - -
AT H BEEAEOR | fEE R4 R4.8.3 4.7 7.4 2 - - - - 006 - - - - - - - - - - - - - - - - - -
%&4TH EBEEAEOR | fEE RS R5.9. 14 1] 6. 3 - - - - 0 - - - - - - - - - - - - - - - - - -
%&2TH BEFEEOR | M6 R R1.8.13 40| 6. 9.5 - - - - - - - = = = _ - - - - - - - - - - -
32T H EBEEAEOR | fEE R R2.8.27 . 6.4 1 - - - - - - - - - - - - - - - - - - - - - -
32T H BEEAEOR | R R3.7.16 4.4 6.4 0 - - - - . - - - - - - - - - - - - - - - - - -
32T H EMAEOR | B R R3.7.16 5.2 6. 5 - - - - |0.046 - - - - - - - - - - - - - - - - - -
3%2TH BEAEOR | #EE R4 R4.8.31 7.0] 6.5 [ 9.9 - - - - 0.21 - - - - - - - - _ - - = - - - - - -
3%2TH BEAEOR |  #HfE R R5.9.14 3.8 6.4 0 - - - - 0.16 - - - - - - - - _ - - = - - - - - -
4%1TH BEAEOR| FED R3 R3.11.29 [ 13.0 | 7. 0 - - - - <0. 001 - - - - - - - - _ - - = - - - - - -

|[EF4%4TH BEAEEOR| D R3 R3.11.29 1.0 [ 7. 0 - - - - 0. 001 - - - - - - - - _ - - = - - - - - -
FiE [EE6FATH BEBEOR | R R R1.8.19 3.5] 6 5 [<0.0005] <0.1 [<0.005] <0.04 [ <0.001]<0.0005[<0.0005] <0.002]<0.0002]<0.0002]<0.0004] <0. 002 <0. 008 <0. 001 <0. 0006] <0. 002 [ <0. 0005] <0. 0002] <0. 0006 <0. 0003] <0. 002 <0. 001 | <0. 002
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